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Root hairsaredeveloped fromthe ...

A. root apex B. epidermis of roots
C. vascular bundles D. endodermis
E. pericycle 10
UseFig. 1toanswer questions2-4
Fig1l
n
2

Fig 1representsacross-section of apart of a

dicot plant.

Which of the following features can be used to

identify Fig 1? 13
A. Podtiondf 7 B.Itsdrcular nature C. Number of 5

D. Preencedt 3 E.Widthof 2

Themain function of 6isto

A. sparate5from7  B. producemoreof 5and 7. 14
C. producecork D. trandocatewater and minerd st

E. conduct carbon dioxide totheother parts.

Themain function of 4isto

A. surround theinner tissues B. produce cork
C. producerooct hairs D. producelaterd roots
E. produce moreof 3.

Inadioot leaf, guard cdlsdiffer from other
epidermal cdlsbecausethey \
A. haveno definiteshape  B.lacknude

C.aresmdler D.oontainchloroplegts E:lackVacude

16.

Which of thefdlowing structuresisNOT foundifithe
femdeagamalizard?

A. Preand pads B. Eardrum C. Gularfad

D. Nasd scde  E. Nuchd credt. 17.

Herbs differ from shrubs‘because they

A. donat producefruits  B. areuseful to herbalists

C. donat becomewoody D. areonlyannuels E. are
only perennids

If anisdlatedlivingodll isleft indistilled water for two
hours itislikelyto

A. losesomedf itsweter tothe surrounding water

B. loseall of itsweter tothe Surrounding water

C. reproduceby binaryfisson D. becomemoreturgid.
E. dieduetowswater.

If an organiceampound hasits Hydrogen: Oxygen
ratioas2:1, itislikely tobe

Biology 1983

A. apraenB.acarbohydrate, C.afa
D. afatyaddandglycerd E‘anaminoacd.

Which of thefdlowing dementsare necessary for the
formeti on of chlorophyll inaplant?

A. Magnesumandiren B. Caciumandpotassum
C. Cdcdumandsulphur D Potassiumand sulphur

E. Phosphorusand paiassum.

Which of thefdloning statementsisNOT trueof

mammalian erythrocytes?

A. Theyhavehaemaoglobin  B. They gopear ydlow
whenlookedat singly C. They are disc-shaped

D. Thegdlsaremore numerousthan leucocytes

E. Theyhavenud@ at meturity.

In woody plants, gases and water vapour are
trangported &cross the sems by the

Axylemfibres B. medullary fibres C. medullary rays
D. phloamfibresE. phloem parenchyma.

Which of thefdlowing substancesisNOT foundin
urine?

A Water B. Sodium chloride C. Nitrogenouscompounds
D.CddumchlorideE. Nitrogenoussdts

Thekidneys of dl vertehbrates act asasmo

regulators Thismeansthat they

A. kegp the compasition of the plasma congtant

B. regulate camati c processes C. Contral thevaumeof
blood entering thekidneys D. decrease the asmatic
pressure of blood E. increase the asmatic pressure of
blood.

The movement of part of a plant in response to
external stimulus of noparticular directionis
A.taxism B.tropism C haptotropic movement
D nastic movement E. phototropism

Thepart of themammalian brain responsiblefor
maintaining balanceisthe

A. medullacblongata B.  dfactory lobe
C.caebdlum, D.cadrum  E.frontd lobe

Figvertical section of onion bulb.

Which of thelabelled partsin Fig 2 will develop intoa
newbulb? A.1 B.4 C.2 D.3 E.5

In the onion bulb, food is stored in the
A. stem B. lateral buds C. cotyledons
D. outer scaleleaves E. |eaf bases.
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Groundnutisnotredlya’nut’ inthebioogica sense

because

A. itisharvegedfromingdetheground B.itspericarp
isnat hard andtough. C. thefruitissucculent

E. itisanachene

What type of fruit isformed from asingleflower
having several freecarpels?

A. multiplefruit ~ B. Smplefruit C.Aggregatefruit
D. Dehisoentfruit E. Indehisoentfruit.

A 28g soil sample was heated to a constant wei ght
of 24g. When further heated tored hot and cool ed,
it weighed 18g. What isthe percentage of hurmus
in the soil ?

A.222 B.556 C.75.0 D.259 E.357.
Which of the following diseasesisNOT caused

by a virus?

A. Rinderpest B.Maizerust C. Newcastle discase
D. Swinefever E. Cassavamosaic disease.

A centipede differsfrom amillipede by its

A. cdour  B. numerousabdomind ssgments
C. paredlegson each abdominal segment

D. posondans E. cylindrica body.

An organism having one pair of identical genesis
A. aheterozygote B. ahybrid C. an allelomorph
D. ahomozygote E. adiploid

Plantswhich can survivein placeswherethe water
supplyislimited are

A .bryophytes B.mesophytes C. xerophytes
D.hydrophytes E. pteridophytes.
Banana, plantain and pineappl e can be grouped
together because they

A. producesmal seads B. aremultiplefruits

C. producesuckersD. haverunners E. havebulbils

One disease NOT caused directly bysbacteriais
A.mdaia B.tuberculoss C. pneumoniMus
E. cholera.

Inwhat order do thefalowing sructures develop
duringthemetamorphogsof thetoad?1. Externd gills
2.Internd gills3. Fordimbs4. Hindlimbs 5. Mauth.
A.12345 B.15243 C.1345/ D./53412
E.54321

Thedental formular i 3/3: ¢ 1/1: pméi4: m2/3 = 42
representsthat of a

A. rabbit B. full' grawn man
D. dog E. sheep.

Whi ch of thefoll owing statementSis NOT true of
insectivorous plants?

A. Theyobtain part ofither food by trapping and
feading on insectSy,B. They attract insactssmply
because of palination,, C. They can grow in soilspoor
in nitrogenous Saltsy, D5 They can supplement the
nitrogen supply by feeding oninsects E. Examples
indude butterworts, sundews and pitcher plants

C. young child

a
Whi ch of these worms is beneficial to man?
A. Hookwerm. ) B. Tapeworm  C. Roundworm
D. Earthworm  E. Gunieaworm.

41

Starting from the skull end, the vertebraeare
arranged in thefollowing ofder:

A. axis, atlas, cervical, thoracic andlimbar
B. atlas, cervical, axis, thoracigand lumbar
C. atlas, axis, thoracic;‘eervica and lumbar
D. atlas, axis, cervical, thoragie and lumbar
E. atlas, thoracic, cérvicaliaxis and lumbar.

Which of the followingudiseases could be
exclusively assoGiated with ariver basin?

A. Madaria [ B. Syphilis C.Onchocerciasis
D. Choera EaPaliomyelitis.

Which of the following representsthe evolutionary
sequence in these plants? 1. Flowering plants, 2.
Ferns, 3. Mosses, 4. Algae, 5. Conifers.

A 2a1&4&385 B.5&da3azal C.2adabalas
D.3&a2adabal E4&3a2a6al

Whi chyef thefollowing will NOT allow osmosisto
take place?

A. pigSbladder B.Cdlophane C. Parchment paper
D. Transparent pdythene E. Cow'sbladder.

Which of the following statements on the
mammalian circulatory system isNot true?
A. Bloodinthepulmonary artery isricher in
oxygen content than blood in the pulmonary vein
B. Thebloodin thehepatic portal veinistheriches in
food substances. C. Blood flowiscontrolled by
valvesinthevens D. Arteriesaregenerdly
thicker andlargerthan veins E. Fibrin hdpsinthe
formation of blood dat.
In a positive phatotropi ¢ reponse of a colegptile, the
region of greatest curvature is brought about by the
A. movement of auxinsaway from theregion of
curvature, B. evendidributionof auxinsinall
partsof thecdeoptile,  C.inhibition of growth
by auxinsin theregion of andler curvature
D. concetrationn of auxinsin theregion of curvature E.
absencedf auxinsin thecdeptile

Thetuber of cassavais NOT a stem tuber becauseit
A. isdigended withfoodreserve B. hasanagrid
shoat portion C. hasother srudturesthat
couldbecdledroots D. lacksaxillarybuds
E. hasabark over itsstored food.

The function of the ossicles (maleus, incus and

stapes) in themammalian ear isthe

A. transmisson of vibrations B. regulation of
pressures C. support of theinner ear

D. maintenancedf balance duringmation

E. ssordionofail.

Which of thefollowing instrumentsis used for
determining turbidity of water?

A. Thermometer B. Secchi Disc C. Rain gauge
D. Hygrometer E. Windvane.

Which of thefollowing isNOT acharacteristic of
monocot plants?
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A. occurrenceof secondary thickening B. Parallel 47. When aSpirogyra cell isimmersed in asalt solution

venation C. Scattered vascular bundles more concentrated than its cel [(saphit
D. FHoral partsarrangedinthrees, E.Periathis A. remansunchanged B. takesupwater andburg
usually insignifdicant C. aorbsalittiewater  D. (lossswater and shrive
42. Which sequence represnts the correct order of E. becomesturgid.
organisminafood chain? 1. Toad, 2.Mucuna, 3.
Grasshopper, 4.Snake, 5.Hawk. 48, Ureais produced in the
A. 5343133 B. 13233345 A.liver, B.Ladder, C.gleen, D.Kidneys E. gdl bladder
C. 2833435 D. 223331354
E. 2-83124-% 40, What isthegeneticraion of theF, generation if members
43 In Rhizopus, carbonhydrateisstored in theform of of F generation areallowed tosd f-pdlinate?
A. glucose B.paramylon C.glycogen D.darch E. all A. Ltall: 3short  Bi3itallil short C. 1tall: 1short
24. Which of the foll owing statements about the rate D.4shorts: Otall E.4tal:0short
of transpiration iISINCORRECT?Itis 0. Thepath taken by glucosefrom theileumtotheheartis
A. dependent on temperature B. affected by changesin A. ileum—hepatic portal vein—Yiepatic artery —vena
lightintensty C. unaffected by humidity cava—sheart. B.lleum—hepaticportd
D. dependentonair movement E. affected by artery=—shepatic artery— venacave—heart.
availability of water. C. ileum==hepatic porta ve n—venacava—heart
45. ‘Jointed skeleton’ isabsent in the D. ileum—shepaticvein  venacava heart.
A. cockroach B. spider C. millipede D. snail E. ileum <hepatic portal ven—hepatic vein—venacava
E. dragonfly. —3 heart.
46. Which of the following statements about the

definition of manislincorrect? Man has

A. maoremadarsthanincdsors B. nodiagema

C. thesamenumber of testh on upper and lower jaws
D. atotd of thirty-twotegth E.atotd of Sxmolars

Biology 1984

1 The mouth part of the housefly are adapted for 6. Which of thefollowingisINCORRECT?The
A. lappingand sponging. B. suckingand chewing. prothallusof afern
C. pierdngandsucking. D. chewingandlapping: A. isaflatened heart-shaped structure
E. hitingand chening. B. isgreen becauseitscels contain chloroplasts
\ C. isthedominantplant D. bearsthesexual organs
2 Themaletoad differsfrom thefemale by.having E. isatachedtotheground by numerousrhizoids
A. vocal sacs. B. shorter hind limis.
C. longer forelimbs. D. bulging'eyes. 7. Which of the following cell constituentsis NOT
E. nictating membrane. common in both plantsand animal s?
A. Mitochondria B. Chloroplasts
3 Mosses, liverworts and ferns can'be grouped C. Ribosomes D. Golgi apparatus
together because they E. Vacoules.
A. aedl equdicplants B. dl growindesarts
C. aresadlessplants  D. haveundifferentiated plant 8 Thecharacter-produding factorsinliving organismsare
bodies E. dl producecoourlessflowers A. chromomeres B. alldes C. chromatids
D. chromosomes E. genes.
4 Spirogyra and Mucor can be grouped together as
Thallophyta because. 9 A mixtureof mercurousand mercuric nitratesis added
A. theyareunicdlular organism, B. thelr pores to afood substance. A white precipitateis formed
could bedispersed by wind — C*they are capable which on gentle heating turnsred. Thefood
of livingindependentilives D», they reproducesexualy substance is
only E. their bodiesaremadeup of thallusand A. protein B. oil C. Carbohydrate
filamentsdternatively. D. Fat E.Fatty acid.
5 Which of thearowi ng invertebrates does NOT 10 Themammalian organ throughwhich nourishment
possess antennac? and oxygen diffuseinto adeveloping embryoiscalled
A. Centipede, B."Crustacean C.Millipede A. amnion B. chorion C. umbilical cord

D. Insect: E. Soider D. oviduct E. placenta
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Hg1representsaquill feether. Thegructurelabdled
“M” isthe

A. quill B. rachis C. superior umbilicus

D. inferior umbilicus E. aftershaft

L
M
N

o

Osmosis can be defined as the movement of
A. moleculesfrom sol ution of high concentration
tolow concentration B. moaleculesfrom solution of
low concentration to] high concentration
C. water from salution of high concentrationtolow
concantration  D. Water acrassasami-permegble
membranefrom solution of low concentration to high
concentration  E. water acrossasami-permegble
membranefrom sol ution of high concentration
to low concentration

Which of thefdloning statementsisNOT trueof
enzymes? They

areprotdns  B.need cofactorstoactivate them
are eengdtiveto hydrogen ion concentration
areedficintheraction

canwithgand hightemperatures.

moo»

Thedorsal and anal fins of fish are used for

A. upward movements B. controllingrolling
movements C. downward movements

D. steering E. buoyancy.

Exoskeleton isNOT found in the
A. maggot B. mosquitolarva C.Nm
D. caterpillar F. termite

16. Blood clotting isinitiated by

17.

A. leucocytes B. platelets C._haemelymph
D. haemoglobin E. erythrocytes

Pepsin isadigestive enzyme whichibreaks

A. cdluloseinto glucose molecules

B. carbohydrates into simpl e sugars

C. protein into peptones D:fats into glycerol
andfatty acids E. sucroseinto glucose and
fructose.

Anaerobic respiration,in yeast produces

A. cabondioxideandethand B. carbondioxideand
wae C. carbondioxideand oxygen

D. cabondioxideandglucose E. ethand andwater

Undergroundistemswhich grow horizontally
through the soil"are

A. blubs B.yrhizomes C. runners

D. corms “Emstol ons

24,

A man with anormal haemoglobin (AA) marriesa
woman who has sickle-cel l[fhaemogl obin (SS).
They haveachild who hassickle-cel trait. Which
of the following genotypes could be associated
with thechild’s haemoglebin ?

A. AA B. (60) C. AO

D. AS E SS

In aBiuret test, someprotén was mixed with sodium
hydroxide solution. Which of thefollowing
chemical sshould be added to the mixturefor a
positive result?

A. Mercurousnitrate B. Copper sulphate

C. Mecuricnitrate  D. Sodium carbonate

E. Ammoniumhydraxide

The removal of aman’s pancreas by surgical
operatien can affect only the digestion of
A. starch™B. starch, protein and fats

C. ailsandfats D. proteins

E. «carbohydrate and fats.

The parts used by tapeworm to fasten itself to the

host’s intestine are the

A+ neck and suckers B. hooks and suckers

C. rostelumand suckers

D. youngproglottisand neck E. rostellum,
hooks and suckers.

UseFig 2toanswer questions24 - 25

F

Fig 2. transverse section of afowl’s egg

Theyoung chick isformed from
A.3 B.3and4 C.13and5 D. 2 E 4

Which partsprovide food for the devd oping chick?
A.2and3 B. 4and C. 3and4
D. 2and5 E. land2

Which of the following types of vertebrate occur
in equal numbersin therabhbit, rat and man?

A. Caudal B. Thoracic C. Lumbar

D. Cervical E. Sacrd

Which of thefoll owing statementsis NOT true of

the piliferouslayer of aroot? It

A. hasaverythincuticle B. istheoutermost
layer of the cortex C. may bear root hairs

D. breaksdown asthe root ages

E. isreplaced by corkin old roots.

A flowering plant ismonoeciousif

A. theandroecumisfound on oneplant

B. thegynoedum ismonaocarpous

C. itproducesessentid organs  D. thegynoedum
and androecium areon thesame plant

E. theflowersareunisexua
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How many nuclei arefound in apollen tubeduring
fertilization?
A.2 B.3 C5 D6 E7

Which of thefdlowingisNOT awageproduct of plants?
A. Tannis B. Oxygen C. Carbondioxide
D. Sap E. Alkaloids

If an animal isvery active and hasgood muscular
control, it islikely to havewell-devel oped

A. olfactorylobes B. cerebral hemispheres

C. opticlobes D. cerebelum E. spinal cord

Which of thefollowing adaptationsisNOT
concerned with the flight of birds?

A. Streamlined shape  B. Presenceof powerful musdes
C. Reduced bodyweight D. Broad gernum

E. Webbed fet.

Thetransect method can be used in ecol ogy to show the
A. number of plantsandanimalsin ahabitant

B. population of aplant ecies

C. didribution of organiamsaong aline

D. haghtsaf treesin asection of aforest

E. number of young plantsacrossaforest.

Asexual reproduction does NOT occur in
A. Mucor, Spirogyraand Paramecium

B. Penicillium, Paramecium and Amoeba
C. Mucor, Rhizopusand penicillium

D. Amoeba, spirogyraand Mucor

E. Rhizopus, Ascarisand Amoeba.

Fehling'ssolution will readily change colour from
blueto areddish colour wheniitis

A. mixedwith sugar solutionin thecold

B. warmedor heated by itslf

C. mixedwithredudngsugar inthecold

D. warmed or heatedwith acomplex solution

E. warmedwith asolution of redud ng sugar:

Normally theflow of bIoodisNEVERfrom\
A. aterytoartaides B. arteridestocapillaries

C. capillariestovenules D. arteridestotheartery

E. venulestotheven

Heat produced in tissue respirationin plantsis

A. achemicd fromof energy B. theonlyfarmof energy
C. themainformofenergy D. aussful formof energy
E. awagefromof energy.

Theaxial skeleton of amammal doesnet include
the bones of the
A. skull B. tail C. limbs D. back E. neck.

Which of thefdlowing Seguences representsthe
processof blood dattilmg?. Fibrin formsanetwork of
threads 2 Red blood cdlsare caught and adot isformed
3. Fibrinogen in plasmachangesintosol ubefibrin 4.
Blood isexposagtoar:

A.4321 B.4312 C. 3142 D. 1,234

E. 3124.
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Green plants areimportant in the ecosystem
because they are

A. primary consumers  B._producers

C. decomposers D. secondaryéensumers
E. scavengers.

An anenometer isan instrument for measuring
A. relativehumidity B altitude C. wind speed
D. turbidity E. salinity.

Which of thefollowing isSNOT regarded asa
pollutant on land orintheair?

A. Noise B. Smoke C. Sulphur dioxide
D. Carbon monoxide E. Nitrogen

Which of the following groups of factorsis
compl etely abiotic?

A. salinity,tide, plankton, turbidity

B. Temperature, pH, soil insect

C. Wind,altitude, humidity, light

D. Conifers/winds, pH, rainfal

E. Soil, weter, bacteria, sdinity

Which of the following lists of diseases, their

causesand transmission isCORRECT?

A. Chdera,virus, saverediarrhoes, infected weter.

B. Malaria, pratozoan, highfever, contact withinfected
person C. Syphilis virus venerd disease, sexud
intercourse D. Smadlpox, virus kinwithbliger,
close contact with infected person. E. Segping
sickness, becteria, tiredness, heedachesand dozing,
tstsefly bite

Erosion can be reduced along a slope by

A. ridgingacrossdope B. ridging up slope
C. ridgingdowndope D. croprotation

E. bush fallowing system.

If ahandful of soil isshaken with water and |eft to
settle, the soil particleswill settlefrom light to
heavy particles as follows:
A. humus day, silt, sand, sones B. humus
dlt, day, sand, sones C. humus, daysilt,
dones,sand  D. humus, sand, Silt, day, sones
E. day, humus, silt, sand, gones.

Denitrifying bacteriain natureliberate gaseous
nitrogen directly from

A. ammonium salts B. soil nitrates

C. thunderstorms D. soil nitrites

E. plant and animal proteins.

Leachingis
A. washingaway of humusfromthesoil surface
B. reduction of soil aeration by pressure
C. soil eroson by meansather thanrainfall
D. lossof organic matter dueto exposureto
direct sunlight E. washing out of chak and limestone

from upper layersof soil by heavy rains

The process of soil erosion is usually from

A. rill 2 sheet-3 gully B. gully=3 rill = sheet
C. sheet =3 gully= rill D. sheet— rill =3 gully
E. rill = gully =3 sheet
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In Spirogyra, the pryrenoid

A. exardewaste products B. issugpended by
cytoplasmicdrands  C. ismainly usedfor
respiration D. usudly containsgtarch

E. makestheplantdimlytotouch.

In which of thefollowing groups of animalsare
flagellaand ciliafound?

A. Hatworms B. Anndids C, Codenterates
D. Potozoa E. Nematodes

Which of thefollowing is seed bearing?
A. Mosses B. Whistling pine

C. Algal filamentsD. Livewort

E. Fernfronds.

Each of thefollowing isan arthropod EXCEPT the
A. crab B. spider C. snail D. millipede
E. cockroach

In fish the sense organswhich detect movements
inthewater arelocated within the

A. glls B. operculum C. nogrils D. medianfins
E. laedline

Euglenaisan autotrophic organiam becauseit

A. hasflagella B. hasplant and animal features
C. isfoundinwater D. can manufactureitsfood
E. movesfast.

Which of thefollowingisNOT true of Mucor2lt

. contains chlorophyll B. growssaprophytically:
bears sporesin sporangium

. consists of hyphae

reproduces by conjugation

moo >

Byrophytes are different from fl ower bec%hey
A. livein moist habitats B. aresmalliplants

C. reproduce sexually and asexually
D. havesmall |eaves
E. have no vascular tissues.

At what stage in thelifehistory of atoad isits
mode of breathing similar tothat of afish?

A. Tadpolestage B: External gill stage

C. Adultstage D. Internal gill stage

E. Larval dage.

Inlower plantslike messes, the structurewhich performs
thefunctions of roats of higherplantsiscdled
A. roothairs “B™roctlets C. hyphae
D. rhizoids E-thalli.
«a
In an angi ospermyleaf, thexylemis
A. besdethephleem B. surrounded by the phloem
C. abwetmphloen D. aroundthephloem
E. insgparatebundles from the phloem.

14,
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A group of similar cells perferming the same
function is

A. anorgan B. asystem
D. anorganelle E-jan enzyme.

C. atissue

Which of the fallowing.is common to adi cotyledonous
gem and a monecotyledonous root?

A. Medullary rays™B. Central pith

C. Widecortex D. Narrow cortex

E. Pericydicfibres.

Which of the following represents the sequence
offprotein hydrolysis? 1.Polypeptides 2.Amino
acids 3 Proteins 4. Peptones

Am3alazad B. 3&a2ad4al C. 3adazal
D. 3&ad4&ala?2 E. 3aladaz

A food substance which produces red colouration
with Sudan I11 contains
A./protein  B. sugar
D. celulose E. fat.

C. darch

If calcium isdeficient in food thismay cause
A. anaemia B. retarded growth
C. dterility D. goitre  E. beri-beri

Partially digested food ready to leave the stomach
isreferred to as

A. chyme B. curd C. glycogen D. paste
E. roughage

The function of lymph nodesisto

A. supplyoxygen B. filter out bacteria
C. formredblood D. supply aminoacids
E. supply simplesugars

The vein which returns blood from the head and
armstotheheartiscalled

A. aorta B. inferior venacava C. superior venacava
D. pumonaryven E. pumonary artery.

Blood platel ets are important because they

A. areamoeboid and nucleated B. produce
antitoxins  C. produce antibodies

D. digest harmful bacteria E. releasethrombin
for blood clotting.

If achild can recelve blood from all donors, he
bel ongs to the blood group
A.O B.A C. B D. AB E AS

Which of the following events does NOT occur
during anaerobic respiration of glucose?

A. Musclecdl producelacticacid B. Carbon

dioxideisproduced C. Milk bacteriaproduce
lacticacid D. Energyisnot produced

E. Germinating seeds produce al cohal.
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[ dentify which of thefollowingarecharacteridics of
theverteraterespiratory surfacel. Moist 2. Vascularized
3. Samiparmesble4. Fredy permeatde5. Dry

A. 123 B.125 C.235 D.245 E. 1,35.

In mammals, thefunction of thesebaceous glandisto
A. producesweat B. secrete sodium

C. secretewater D. produce an oily substance
E. manufacturevitamin D for theskin.

Which of thefollowing organs regulates the
amount of amino acids and glucose in the body?
A. Kidney B. Liver C. Pancreas D. Spleen
E. Stomach.

Usethediagrambelowtoanswver quegions26and 27

Fig. 1

Bowman’s capsules arelocated in the part label led
A.1 B.2 CC3 D4 ES5 F. 6

Re-absorption of useful materialstakes placein

the parts|abel ed.
A. land3 B. 3and5 C. 5and6
D. 6and7 E. 2and4

Movements and positions of the head in man are

detected by the
A. cochlea B. malleus C. utriculus
D. semicircular canals E. outer

The appendicular skeleton ismade up of N
A. limbs B. skull andlimbs C. phalanges

D. ulnaandradius E. girdlesand limbs.

Themaizegrainisafruit and not aseed because it
A. hasalargeendosperm B. isformed fromanovary
C. isamonoootyledon D. hasnoplumuleand radicle

E. hasahypoged germination.

If aflower isprotandrousthen it

A. must be unisexual B. hasanundeveloped
anroecium  C. hasnoanroecium D. must
beinsect pollinated E. can prevent self-
pollination.

For pollen to be released in Crotalaria theinsect

must depress the

A.wing B. ked Cagandard D.antepetaous
damen E. antesspalousstamen.

: -
Irish potatoisa
A. ulb By taporeat C. rhizome D. roct tuber
E. demtuber.
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Thecharactersby which an organismisrecognized are
termedits

A. phenotype B. genotype

C. morphology D. anatomy Eu,physiology.

Thehereditary material in acellisknown as
A.ADP B. CNS C/ RNA, D.ATP E DNA.

A young plant showing yellow leavesislikely to
bedeficient in

A. calcium B. [magnesium C. potassium
D. boron E. molybdenum.

Germination which resultsin the cotyledonsbeing
brought above ground is called

A. hypocotyls B. epicotyl C. epiged

D. hypegeal E. plumule

Themammadianendocrinesystemisresponsiblefor

A. transmitting impulses B. regulating body

temperature C. regulating osmotic pressurecf blood

D. chemigal co-ordination E. themanufactureof
blood.

Angeld man islikely to be long-sighted because

age effects the
A. opticnerves B. retina C. ciliary muscles
Dy cornea E. aqueoushumour.

Inamammal, gimulusistrangferred from thereceptor
musd eto the centrd nervous system through the

A. motor neurons B. effector muscles

C. dendrites D. sensoryneurons E. synapses.

A relationship between living organismswhichis
of mutual benefitis

A. paradtism B. sprophytisn  C. ecosygem
D. symbicsis E. commensdisms

Which of thefollowing food chainsisin the correct
sequence?

A. Weeds" Tadpoles— Beetles frish-3 Man

B. Weeds—} Tadpoles3 Fish—3 Beetles— Man.
C.Tadpol es-)Beetl esWeeds—Man-3 Fish

D. Man = Fish-3 Beetles Tadpoles Weeds

E. Fish—Beetles STadpoles— Weeds = Tadpol es.

The primary and secondary hosts respectively of
bilharziaare

A. fishandman B. mananddog C. snall andman
D. manandsnail E. fishandsnail

Which of thefollowing isNOT caused by bacteria?
A. Cholera B. Gonorrhoea C. Tuberculosis
D. Onchocerciasis E. Typhoid.

Tsetsefly isharmful to man becauseit is associated
with the spread of
A. riverblindness B. mdaria C. degpingSckness

D. leprosy E. dysntery.
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Soil erosion CANNOT be controlled by

A. planting cover crops B. contouring of
sloping ground C. terracing of slopes

D. laying of mulch E. burning of bush

Water retention ishighest in soilswhich arerichin
sand, poor in humus and devoid of clay
clay and sand, but poor in humus

clay and humus, but poor in sand

clay, poor in humus and devoid of sand
Sand and humus, but poor in clay

moow>

Theorigin of mineral particlesinthesoil is
A. humus B. water C. micro-organisms
D. weathered rock E. organic matter

Viruses are regarded as non-living because they

A. can neither reproduce asexually nor sexually

B. cannot survivein their respective environments
C. do not possess characteristics to the next

D. can neither respire nor excrete.

Which of the following pairsare fully adapted to
terrestrial life?

A. Fernsandagae B. Fernsand mosses

C. Bryophyte and flowering plants.

D. Flowering plantsand conifers.

Which of theseanimalsis radically symmetrical?
A. Squid B. Hydra C. Snail D. Cockroach.

Which of the following has cones?
A. Angiosperm B. Gymnosperm C. Pteridophyte

D. Bryophyte. \

For effective functioning of abird’ squillifeather,
hooks fit on the ridges of the
A. vane B. rachis C. barbules D. barbs.

Which of thefollowing is NOT true of Spirogyra?
A. Reproduces by conjugetion B. Reproduces by

fragmentation C. Congstsof branched filaments
D. Conggsoaf unbranched filaments

Which of the following lacks chaetae, tentacles
and antennae?

A. Snal B. CrayC. Millipede D. Earthworm.

Incompl ete metamorphesisin the
A. butterfly Wrasshopper C. mosquito
D. housefly

Fishes are cold=blooded because their body
temperatdréis

A. constantlyllow B. constantly high

C. dependenten that of their surroundings
D. reaulatediat will

14.

17.

Atmospheric nitrogen isdirectly replenishedin
nature through

A. theactivitiesof denitrifying bacteria

B. thebreakdown of ammonium saltsin the soil

C. theactivitiesof nitfifying bacteria

D. theactivitiesof nitrogen-fixing becteriain root nodules
E. egedtion, deathfand decay

Theinitial volume of water poured into a bag of
dry soil was 50ml"and the amount that drained
through was 35ml. The percentage water content
of the fully soaked,sail is therefore

A. 46.7 B. 250 C. 200 D. 30.0 E. 583.

Biology 1986

10.

When theoriginal king and queen of termitesdie,

they are replaced by

A. theking and queen of ancther colony

B. someadult reproductives from thesamecaony

C. someadult workerswhich arespedally fedtobreed.

D. Deveaping nymphs nurtured as sscondary
reproductives

Thema ecockroach differsfrom thefemaleby having

A. mandibles B. apair of styles C. spirades
D. apair of cxd.

The fins making up thelimbs of the bony fish are
A. caudal and ventral B. ventral and pelvic
C. pelvicand pectoral D. pectoral and dorsal.

Thestem differsfrom theroot in having thexylem
and phloem strands

A. onthesameradii B. scattered  C. ondternateradii
D. towardsthepith.

Oxygen liberated during photosynthesis has been
demonstrated to comefrom

A. carbondioxide B. air C. water D. chlorophyll.

Which of theseisatrace e ement?
A. Iron B. Copper C. Calcium D. Sulphur.

Themain organic substancesfound in the human
body are

A. carbohydrates, proteins and salts B. salts,
fatsand proteins C. fats, carbohydrates and
proteins D. salts, fats and carbohydrates.

Which of the foll owing elementsisessential for
theformation of haemogl obin?
A. Sodium B. Potassum C. Calcium D. Iron.

The severe deficiency of vitamin C leads to
A. kwashiorkor B. beriberi C. pellagra D. scurvy
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In addition tothe high cal ories derived from fats

and ails, they are

A. used in producing new cdls B. necessary for enzyme
formation C. usad asinsulatorsfrom cold

D. required for growth

The extract from afood substancereacting with
sodium hydroxide and copper sulphate solutions
will produceviolet to purplecoloration if

A. fatsarepresent B. carbohydrateis present

C. proteinispresent D. reducing sugar is present.

Thethreeimportant organs that are situated close

to the stomach are

A. kidney, liver and gall bladder B. pancress liver and
kidney C. liver, kidneyandspleen D. gall bladder,
pancress and spleen.

Evidencethat atooth isaliving part of the
mammalian body can befound within the
A. gum B. pulp cavity C. cement D. enamdl.

Blood circulation in amammal issaid to bedouble

because

A. it passestwice through the heart in the complete
circuit B. it movesin both arteriesand veins

C. itcirculatesin both the heart and other organs

D. theheart contains auricles and ventricles

Whichisthecorrect order of water lossfromthe

leaf? 1 Mesophyll 2Vens3 Substomatd cavity4 Somata
A. 3323134 B. 2333 124

C. 2313234 D. 1323 324

The aperture between theleft auricle and the |l eft
ventricleis guarded by the

A. auricular valve B. tricuspidvalve
C. ventricular valve D. bicuspid valve.

A major limitation in the use of the potometer for
measuring the rate of transpiration isthat
A. itismadedf bregkableglassmateria
B. itmeasurestherateof weter intake
C. itmessurestherateof water lossthroughithe sem
only D. themovement of theair bubbleinthe
potometer cannat betimed accuratdy.

Which of the following statements iSot correct

with respect to inhalation in mammals?

A. intercogta musd esoontracyB. digphragmisraised

C. ribsareraised D. pressuredf thetherad ccavity
decreases

The equation that can beused to summarize the
process of anaerobigbreakdown of sugar is
A. CH,0O+2C H.OH% 2CG,
B. 6CO, +6H,0 M€k, 0, + 60,
C. CH,O,+60,’! 6€O, + 6H,0+ energy
D. CH,0O,’'! 2CH.OH* 2CO, + energy.
- o
If aperson ishitten by asnake ontheleg, itis
advisabl e for themperson

3L

A. kegp moving sothat thevenomwill oaze out with
blesding B. washthewound withWwater containing
antiseptic C. bandagethewound sotha germsdo
not getinthroughit D. kegp ill'and apply a
tourniquet abovethe wound.

Deamination occursinthe
A. kidney B. pancreas,C. spleen D. liver.

In the mammalian gkih, melanin and keratin are
contained in the

A. sebaceous glandiBs«Sweat gland

C. subcutaneouslayer  D. malpighianlayer.

Two main distinguishing features of the cervical
vertebra are the presence of

A. shorgneural spineand vertebraterial canal
B. prezygapophysisand cervical ribs

C. largecentrum and cervical ribs

D. yertebraterial canal and large centrum

Nastic mevement is
A. responseto light stimulus B. non-directional
C./directional D. responsetointernal stimulus

Usethefigure below toanswer questions 34to 36

Vertical section of amaizegrain

Which of the labelled partswill developinto a
new maize plant?
A.2 B.3 C. 4 D. 5.

The structurelabelled 1 isthe
A. plumule B. radicle C. cell membrane
D. seed coat

Themain function of thestructurelabelled 2isto
A. protect theinner parts of the seed

B. nourish the embryo and the growing parts

C. keeptheinner partsmoist

D. maintain theshape of the seed.

Gedtation in mammal sisthe period

A. required for growth after birth

B. between the formation of the foetus and birth
C. of development from zygote tobirth

D. beforetheformation of the zygote.

If awomanwhoisacarrier of sicklecdl trait (AS)
married amanwhoisasickler (SS) and they had
four children how many of them would be normal
A. Three B. Two C. One D. None
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Which of thefollowing isan example of
discontinuous variation?
A. Skincoloration

C. Body weight

B. Left-handedness
D. Height

The hormone which regul ates the amount of
glucosein the blood iscalled

A. adrenalin B. auxin C. insulin

D. thyroxine.

An instrument that can be used to demonstrate
phototropism and geotropism in plantsisthe
A. auxanometer B. potometer C. klinostat
D. photometer.

In an ecosystem, animalswhich feed directly on
plantsarecalled

A. secondary consumers B. primary consumers
C. producers D. predators

In an agricultural ecosystem, the biotic component

consists of

A. crops, pest and beneficial insects B. crops,
temperatureand humidity C. pests, beneficial
insectsand water D. crops, water and soil.

Which of these diseases CANNOT be prevented
by immunization?
A. Poliomyelitis.
C. Cholera

B. Tuberculosis
D. Onchocerciasis

Which of thefollowing ecglogical factorsare
common to both terrestrial and agquatic habitats?
A. Rainfal, temperature, lightiand wind

B. Salinity, rainfall temperatureand light

C. Tides, wind, rainfall and altitude

D. Ph, sdlinity, rainfal andhumidity

Inacommunity, bacteriaandfungi arereferredtoas
A. producers B decomposers C. scavengers
D. consumers

The swollen shoat disease of cocoatreeis caused by a
A. virus B. fungus C. bacterium D. protozoan

A large percentage of tropical soilstend to be

acidie because they

A. contain largequantitiesof potash B. contain large
quantitiesef lime C. loseahighproportion of their
organic matter torunningwater D. loselimeand
pdtashifrom thetop soil through rain action

Thefdlowing aremethods of soil conservation EXCEPT
A. contour terracing B. strip cropping
€« contour ploughing D. mixedgrazing

Samples of different soil typesare packed in glass
tubes whose lower ends are plugged with cotton
wool. If these tubes are suspended in a trough of
water, water will risehighest after afew hoursin
A. sand B. loam C.clay D. humus.

Biology 1987

Thefunction of endoplasmic reticalumiis

A. proteinsynthesisB. intracellular tranMerials
C. digestion and destruction of foreign bodies

D. production of energy from glucose

Which of the following features of Euglenais
found only in animals?

A.Paramylumgranules B. HagdlumC. Pdlide
D.Pyrenaid.

An organism found on a,bare rock surface has
features of algae and fungi-Theorganismis
A.anempiphyte B.alichen C.abryophyte D. afern.

Inaplant exhibitingalternation of generations,
thediploid multicell uaristageisknown as

A. gametophyte By, spermatophyte C. holophyte
D. sporophyténg,

A characteristic that distinguishes bryophytes
fromfl ing plantsisthe
A. possession, Of true stems and leaves B. ability
to repraduceasexually C. absence of vascular
tissues D, ahility to grow in moist habitats.

10.

A good example of adiploblasticorganism is
A. Amoeba B.Hydra C.Eathworm D.Roundworm.

Thefunction of theditdlumintheearthwormisto
A. aid digestion B. prevent desiccation C. assist
locomotion D. secrete cocoon.

The crayfish is an arthropod because
A. itsbody congsts of acephalathorax and an abdomen
B. it hasapair each of antennaeand antennules
C. every ssgment of itsbody carriesapair of appendages
D. itsbody is covered with an exaskd eton made of

chitin.

The hypha of Rhizopusis said to be coenocytic
because it
A doesnat contain chlorophyll B. hasnocrass wals
C.isvacudaed D. garesail globules

In most true ferns sporangia are grouped into
A.indusium B. fondsC. prathalli D. sari.
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16.

17.

In the reproduction of mosses, water is essentid because
A. they livein moist habitats B. they cannot
reproduce without water  C. the male gametes
must swimto fertilizetheovum D. they
produce spores.

In tapeworm, the two structuresthat run through
the length of the body are the
A. nerve cord andtheexcretory dudt B. sperm
duct andthenervecord C. genita poreandthe
exaretory duct  D. spermduct and thegenita pore

Which of thefollowing isNOT acharacterigtic of snail s?
A. Bilderd symmetry B. Chitinousexoskdeton
C. Muscular foat D. Soft unsegmented body in amantle

In thelife history of abutterfly, destruction of
cropsiscaused by the
A.maggot B.nymph C. caterpillar D. pupa

The correct sequence of tissuesin the anatomy

of ayoung dicotlydonous stem from the inside to

the outside is

A. pith, phloem, cambium, xylem, parenchyma,
collencymaandepidermis B. xylem, phloem,
cambium, cortex, endodermis, callenchymaand
epidamis C. pith, xylem, cambium, phloem,
callenchyma, parenchymaand epidermis

D. phloam, xylem, camhbium, cortex, endodermis,
collenchymaand epidermis

Secondary thickeningisinitiatedina
dicotyledonous stem by the

A. xylemparenchyma  B. secondary phloem
C. endodermis D.cambium.

In demondrating theimportancecof mineral dementsin

theplants, the culture battle must bedarkened to

A. prevent dgd growthin culturesolution

B. dlowroot growth C. prevent breskdowniefminera
dements D. prevent photosynthesisinther

Thevitamin which isimportant in the farmationef
theretina pigmentsis

A. vitaminA B.vitamin B
D. vitamin D.

C.vitamin'C

Which of the following lists of organsis@directly

involved in nutrition?

A. Oesophagus, bronchus, stomach, pancress and
anusB. Spleen, pharynx, duodentim,,jgunumand
rectum, C. Teath, oesophagus ileumlungsand
largeintesine, D.Sdivarygland, liver, somach,
villi and calon.

In the standard experiment to'show that oxygen is

given off during phetesynthesis, sodium

bicarbonate is used to

A. neutrdize theaadinwater B. supply minera sdtsto
weter plantig,C. supply carbondioxidefor
phatosynthesisy, D.” Kill micro-organisminwater.

24,

Onecubic centimeter of lymph isricher than an
equal volume of blood

A. erythrocytes B. leucocytes C. aminoacid

D. glucose.

The oxidative part of the respiration process takes

placein the

A. mitochondriaB. ribasomes C. endoplasmic
reticulum D. golgilbodies:

Fatigue of leg muscles may occur after riding many
kilometers on a bicycle because of

A. insufficient glucose B. excess carbon dioxide

C. excessprotein D. insufficient oxygen.

The function of theloop of Henleisto

A. inagasetheflow of urine B. concentrateamino
addsinthekidney tissueC. concentratessodium
chlorideinthemedullacf thekidney

D. increasethevoumedf urine

Usetheinfermationinthegraphbdowto
ansyer question 25and 26
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Which of theplantsislikely to have broad leaves
with thin cuticle?
AR B.S C.T D.U

Which of theplants islikely tobeadesart pedies?
A.U BT CS D.R.

Sclerenchymacellsarelignified to

A. strengthen and support the plant B. transport
synthesized food C. conduct water and salt

D. protect the plant frominjury.

The pineapple fruit is best described as
A. aggregate, succulent and indehiscent
B. aggregate, succulent and indehiscent
C. multiple, succul ent and indehi scent

D. multiple, succulent and dehi scent.

The flower shown above is

A.complete regular, hermaphroditic with inferior ovary
B.incomplete regular, gaminatewith inferior ovary

C. complete regular, hermaphroditicwith inferior ovary
D.incomplee, irregular, pidtillatewith superior ovary.
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A flower showing radial symmetry issaid to be
A. pentamerous B. protandrous C. protogynous
D. actinomorphic.

A samaradiffersfrom a cypselaby having
A. anexendedpericarp B.ahardpericarp
C. apericarp fused with the seed coat

D. somehairy outgrowths on the pericarp.

The plantain reproduces asexually by
A.suckers B.buds C.fragments D. spores.

Growth can best be determined in a popul ation of

Spirogyra by measuring the

A. total lengths of thefilaments B. total widths of
thefilaments C. rate of photosynthesisin the
population D. dry weight of the organism.

Most cells in higher animalsretain their power of
divison EXCEPT

A. lymphocytes B. nerve cdls C.malpighiancdls
D. gemadls

A severe deficiency of thyroxin resultsin
A. diabetesmellitus B. sexual underdevel opment
C. cretinism D. gigantism.

The growth of a coleoptiletowardsunilateral

light sourceisdueto

A. rapidrate of photosynthesis B. unequa
digributionof auxin  C. thedffect of geatropism

D. theeffect of photdlys's.

Thesaquenceof ear ossdesfrom thefenestraovaisis

A. malleus incusand sgpes B. malleus sapes and
incus C. gapes incusand malcusD. stapes malleus
andincus

The centrefor controlling body temperaturein
thebrainisthe

A. cerebrum B.cerebelum C. medm
D. hypothalamus.

Unlikeauxins, gibberellins

induce theformation of adventitious roots
do not affect leaf and fruit abscission
cannot stimulate stem el ongation

arequite effective asherbicides.

Sow»

A genewhich expressesitsd f only in the
homozygous condition is
A. amutant B. dominant C. recessiveD. |ethal.

An exampl e of monohybridinheritancein manis
A. astigmatism Breretinism C. hyperthyroidism
D. albinism.

If aplant, hemozygeus for round and yellow
(RR;YY), is erossed with awrinkled green type
(rr;yy) allfefsthe resulting seed will be

A. blueandwripkled B. roundandydlow

C. wrinkledandydlow D. roundandgreenish-yellow.

47.

The ratioof carriers tosicklersinthe F, generation
derived from aparental crossofitwo carriers of
haemoglobin Sgeneis

A31 B.13 C21( D.12

In which of thefollowing crosses will al the
femal e offspring be col ourblind?

. colour blind mother x calour blind father.
colour blind motherx'normal father

. carrier motherx colour blind father.
carrier mather x narmal father.

o0 W >

Which of thefollowing relatesto edaphic factors?

A. Thestructure of the earth’ssurface B. The
influence of Aiving organismson each other.

C. Temperature, rainfall and humidity

Dgqlheinfluence of soilson plants and animals.

Epiphytes growing on the branches of trees
provideyan exampl e of the relationship known as
Agparagitism B. commensalisms C. aprophytism
D. hal@ophytism.

Poliomyelitisis an infectious disease caused by
ATvirusB. protozoan C. bacterium D. fungus.

One of thefunctions of UNICEFisto

A. prevent and control major diseases B. prevent
disease outbreak by administering vaccines

C. improvethe health and nutrition of children
and nursing mothers D. monitor environment
pollution.

Nitrifying bacteriaareimportant becausethey
A. rdeasenitrogen totheatmosphere  B. convert
Atmospherenitrogentoammonia  C.combine
ammoniawith nitrogen D. axidizeammonium saltsto
nitrates.

The process by which limeis added to clay soilsis
known as

A. sedimentation B. flocculation C. leaching

D. manuring
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1 Thefunction of ribosomesin cellsis
A. protein synthesis B. starch synthesis
C. transport of materials  D. lipid storage.

2 Which of thefollowing structuresis common to
Euglena, whiteblood cell and Amoeba?
A.Vacuole B.Cdlwall C.Cilia D.Cdl membrane.

3 Theterm'‘ Thallophyta' refersto
A. fernsand mossesB. algae and fungi C. mosses and
liverworts D. fungi andferns.

4 Thefdlowing organisms arehermaphrodites EXCEPT
A.snail B.taenia C. schistosoma D. earthworm.

5 Parasitic formsare NOT found among
A. platyhelminthes B. nematodes C. moluscs
D.anndlids.

6. Which of the following sets of organism represents
thecorrect trend from simpleto complex structural
organization? 1 Mollusca2 Platyhelminthes3

Nematoda 4 Protozoa
A.43 13233 B.43 33231
C.4-32-31-3 D.4 323331

7. Spirogyra, Euglena and Chlamydomonas share many

characteristics EXCEPT
A.nutrition B.reproduction C.mohility
D. irritability.
8 The prothallus of afernis equivalent to the
gemaetophyte generation of a moss because it
A. isinconspicuousB. hasrhizoids C. bearssexual
organsD. ismulticellular.

9 What isthe function of trichocystin Pararm
A.Movement B. Defence C. Excretion D. Reproduction.

Usethediagram belowtoanswer quetions10and 11

1
,-'f\

ﬁO 1

i

10. At which stageinithis cycle can man beinfected?
A.2 B.4 C5 D.6.

1 Which gageisfound in the musd eofian infected pig?
A.3 B4 C5 D6

2 The long and coiled intestine of a young tadpoleis
an adaptation to its
A. herbivorousdiet B. carnivorousdiet C. aguatic
habitat D. insectiviereus habit.

13 Lung hooks areused for respiration in
A.spiders B.insects C. millipedes D. snails.

14. Insectsand millipede have many featuresin common
EXCEPRT
A. exoskdeton B. jointed, appendages
C. /Compeund eyes D. segmented body

15 Themajerfunction of the swim-bladder in fishesis
A breathing B. buoyancy C. swimming D. diving

16. Whi ch of the following statement gives the BEST
description of bark?
A" Tissuesyoutside the vascular cambium
B. Cork-liketissuesfound onlyin stems C. Brown
tissues never found in primary growth
D: Cork-liketissues of old trees.

17. In the transverse section of the leaf of maize vascular
bundlesarearrangedin
A.arow B.onedrdeC. dternaepogtionsD. twodrdes

18 If an animal hasdiastema, it would NOT possess
A.incisorsB. canninesC. premolarsD. molars

19, If thegall bladder of amammal isdamaged, which of
thefollowing will be most serioudly affected?

A. GlycolysisB. Digestion of starch C. Digestion of fats and
oilsD. Digestion of proteins.

2. Which of thefollowing will befirst digested if
ingested at the sametime?

A. Cooked beans B. Cooked riceC. Cod liver ail

D. Roasted beef.

2L If the phloem of ahealthy plantis killed by heat
treatment the

A. upward movement of saltswill cease B. food manufacture
in theleaveswill accumulate C. whale plant will die
immediately D. leaves of the plant will become yellow.

2. In the mammalian respiratory system, exchange of
gases occurs in the
A. lungsB. bronchi C. bronchioles D. alveodli.

23 Themain waste productsformedin plant are
A. dkaoids tanninsand resnsB. water, alkaloidsand carbondioxide
C. water, carbondioxide and oxygen.
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24, In the kidney the mal pighian corpuscleislocated in
the
A medullaB. helium C. cortex D. pelvis.

25. The skin, through the sweat glads, functions as
A an excretory organ B. arespiratory organ C. a sensory
organ D. a protective organ.

26. Parenchymacells serve as supporting tissue when
they A. contain chloroplasts B. have crystals C. become
flaccid D. becometurgid.

27. Taxism differsfrom tropism because

A. thewholeorganism is affected B. itisadirectional
movement C. it isaresponseto multi-directiona stimuli D.
part of the organism is affected.

28 A dry dehiscent fruit which breaksup into one
seeded partsisa
A. schizocarp B.capsule C.follicle D.legume.

2. Airgpaces are characteridic of seedsor fruitsdigpersd
A. birds B.water C.wind D. explosive mechanism.

0. In vegetative propagation, which of thefollowing
requires part of another plant to devel op?
A.Scion B.Bulb C.Rhizome D. Sucker

3L Which of these plant groups are normally
propagated by asexual means?
A Banana, yam, pineappleand cassavaB. Yam,
cassava, rubber and banana C. Yam, cassava,
orange and banana, D. Banana, cassava, coffee

and pineapple.

R Inamammal, the placentaperforms functions similar
to those of the
A. lungs, kidneys and digestive system B-lungs,
heart and nervous system C. liver,intestinesand
reproductive system D. intestines, w
digestive system.

K< Theradicle of abean seedling growsmost rapidly in
theregion
A. of theroot tip B. just abovetheraottip C. just
around theroot tip D. just below the root tip.

A, The main function of thechoroidis
A. protection of theeyeball B. transmission of light
C. supply of nutrients to tissues of the eye
D. converging light.

5. What part of thecentral pervoussystem is
concerned with answerihg an examination question?
A. Cerebrum B. Cerebellum C. Medullaoblongata
D. Spinal cord®ms

3. If adark-skinned woeman (Bb) marriesan abino man
(bb) and have four children, how many of the
children willibe dark-skinned?

A.3 B2w ) Cl D.O.

37.

3B

A red - coloured flower when crossed with awhite-
coloured one produced pinkflowers. Thisisan
exampleof

A. completedominanceB. blending inheritance

C. interaction of genesiD. back crossing.

The turbidity of a pond can, be measured using the

A. anaemometer B. secchi disc C. theodolite
D. hydrometer.

0.
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48

The most important substances necessary for the

maintenance of lifeare carbon , oxygen

A. hydrogen , soil and enzymes B. hydrogen, salt
and water C. nitrogen, salt and soil

D. nitrogen, salt and water.

If an‘erganism obtainsits food by means of
haustoria, itissaid to be

A halephytic B. heterophytic C. Saprophytic
D.Paragitic.

Which of the following rel ationship invol ves only
one organism?

A«Saprophytism B. Commensalism C. Parasitism
D. Symbiosis.

Which of thefollowing hasthe greatest influence
on thedistribution of animalsin marine and fresh
water habitats?

A.pH. B. Salinity C.Water current D. Turbidity

Which of thesegroups of animalsislikelyto be
found in fresh water?

A. Blood worm, pond skater and scorpion B. Blood
worm, pond skater and dragonfly larva C. Pond
skates scorpion and dragonfly larva. D. Pond skater,
blood worm and ant-lion.

Oneof thecharacteridics of plant in the savannaisthe

A. possession of thin, smooth barks B. possession
of largetap roots C. production of seedlings on
mother plant D. possession of thick, flaky barks.

Which of the following disease can be contracted
areaswith fast flowing rivers?

A. Schistosomiasis B. Elephantiasis C. Syphilis
D. Onchocerciasis.

Which of thefollowing causes  pollution?

A. Consumption of canned drinks. B. The addition of
fertilizer tofarmland C. Respiration of living
organismsD. Burning of refuse.

The mineral nutrient that is most bound to the soil is
A. phosphorusB. calcium C. iron D. potassium.

Themineral nutrient that easily getsleached out of
the soil is
A. phosphorus B. calcium C. magnesium D. nitrate.


http://www.jambcbttest.com
www.jambcbttest.com

Most commercial fertilizersarerich in saltsof

A. Sodium, iron and calcium B. nitrogen, phosphorusand

patassum  C. iron, copper andnitrogen  D.cddum,
sodium and phosphorus.

Usethefigure below toanswer questions1to3

Thestructure labelled 5isthe
A.neudedus B.Gagi body C. mitochondrion vacuole

Which of the labelled parts of the cell contains
ribonucleicacid?
A.l B.2 C3 D.5

Which structureis known as the power house of
thecdll?
A.6 B.5 C4 D.3

When avirusisplacedin anon-living medium it
A. becomes dehydrated B. formsspores
C.formsflagdla D.becomescrystallized.

A characteristic of the phylum coel enterateisthat

A. most of them aremarine B. they pow
with asingleopening C. they possess
numerous pores on their body D. they are
bilaterally symmetrical .

A multinucleate body without intefnalieell
boundariesis characteristic of
A.bryophytes B.fungi C.dgee D.gymnogperms

Doublefertilization isawnigue feature of
A. angiosperms B. bryophytes, C. pteridophytes
D. algae

Which of thefoll owingphyla have memberswith
both internal and external'segmentation?

A. Platyhelminthes By Nematoda C. Algae

D. Mallusca ~

Mineral salts can'beabsorbed into the roots by
A. osnoss Q%IB. osmodsand diffuson
C. diffuson andactivetransport D.imbibition only.

50.

14,

16.

17.

Ow

Dead plants and animals are decomposed by bacteria
and fungi into
A. butterfly B. grasshopper C.mosquito D. housely.

Biology 1989

10.

Which of the following 1sa common characteristic
of crustaceans?

Possession of apair of antennae

Possess on‘af two pairs of antennae.

Each ssgmenthasapair of walking legs

Four pairsof walking legsonthe
cephalathorax.

Thepedipalpi in spidersare used for
A. gragping/B.Waking C.feding D. Webspinning.

OO m>

Thébody of asnail isdivided into head
Al thorax and abdomen B. viscerd massand
abdomen C.thoraxandfoot D.viscerd massand foat.

Usethediagram bdowtoanswer questions13to14

Which of the labelled partsis used for feding?
Al B2 C3 D4

Thestructurelabelled 2is the
A.ocompoundeye B.ocdlus C.antenna D.labid pap.

In adicotyledonous stem, each companiosn cells
is found beside the
A.endodermal cell
C. sievetube

B. xylem vessel
D. pericydicfibre.

Usethediagram bdowtoanswer questions16to17

WY

Which of the structure€' sisthe molar?
Al B.2 C.3 D4

What isthe function of 3?

A. Cutting off large pieces of food.
Seizureandtearing of prey

Grinding of food D. Tearing of flesh only
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24,

If ahealthy potted plant is continuously kept in
dim of light
A. therateof respiration may equal that of
photosynthesis B. more carbon dioxide and
water aretaken in C. respiration may be halted
D. the volume of oxygen released increases.

The pancreaticjuice containsthe enzymes

amylopsin,

A. pepsinandtrypsinogen B.renninand
steapsin C. steapsin and trysinogen

D. steapsin and ptyalin.

Aged erythrocytes are destroyed in the
A. pancreasB. liver C.lymphnodes D. kidney.

The seedlingsin arice field were found to have
thin lanky growth with reddish leaves and poor
root development. Thisisbecause the soil lacks
A. sulphur B. phosphorus C. potassiumD. iron.

Therewill beagglutination when the

A. GroupA srummixeswith GroupA erythrocytes

B. GroupA serum mixes with Group B erythrocytes
C. Group AB serummixeswith Group Oerythrocytes

D. Group B serum mixeswith Group B erythrocytes.

Usethefigurebdowtoanswer questions24t026

Which of the following is the function of lymph?2

A. Carrieshormones round the body B-Transport
nutrient and oxygen from blood{eapillariesto
thecells. C. Distributes heat unifof d
the body D. Conveys aminoacids:and glucose
from thesmall intestineto theliver.

Thetype of joint at the point labelled 5isthe
A. pivotjoint B. glidingjoint/C. ballyand socket
D. hingejoint.

Which of the labelled bonesisthe ulna?
A.l B.3 C4 D5

What isthe name of the structurelabelled 2?
A. Odontoid process B. Olecranon B. Process
C.Patella D. Condyle.

Thelumbar vertebrawhen compared with a
thoracic vertesahasa

A. longer neural spineB. wider neural canal

C. thicker centrum™D. shorter transverse process.

a
Wind-pollinated flowers usually have
A. rough péllen grainsB. sticky stigmas C. small
and short,stigmas D. long styles.

3L

The components of castor oil seed and the maize
grainaresmilar EXCEPT forthe

A. number of cotyledons B. location of theembryo
C. number of radidesD. numberefplumules

A corm differsfrom abulb inthat

A. its stem isthe main food storage organ
B. it hasaflattened, di sc-shaped stem

C. buds are absent in‘theaxils of the leaves
D. adventitious¥oots are present

Exponential increasein the population of an
organismisacharacteristic feature of

A. binary fission B. sexual reproduction

C. budding D, vegetative propagation.

Theirreversiblelife process by which new
protoplasm is added to increase the size and wei ght
of an organism can be termed

A~ anabolism B. catabolism C. growth
D.development.

Fruit enlargement can be induced by spraying
young ovary with

A« cytokinin, abscisicacid and ethylene

B. gibberellin, ethylene and abscisic acid

C. auxin, abscisic acid and ethylene

D. auxin, cytokinin and gibberdlin.

A fundamental similarity between nervous and

hormonal system isthat both

A. involvechemical transmission B. have
widespread effects C. shed chemicalsintothe
blood stream D. evoke rapid responses.

The region that controls most of the unconscious
processes of amammalian body isthe

A. cerebellum B. cerebrum C. spinal cord

D. medullaoblongata.

Duringcdl division, thetwo srandsaf chromosomes
arejoineda apaoint caled
A. spindle B. chromatid C. centromereD. aster.

When the two alleles present in an organism are
of the same type, the genotype is described as

A. heterozygous B. heterogamous C. homozygous
D. homologous.

If parentswith blood groups AB and OO produce
six children

A. three of them will have group B

B. two of them will have group A

C. all theoffspring will h ave group O

D. none of themwill have groupA.

Which of thefollowing isasex-linked character?
A. Scklecdl anaemia B. Tonguerdling C. Skincolour
D. Cdour blindness
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In an ecosystem, the LEA ST efficient energy
transfer link isfrom
A. producersto primary consumers B. sun to
producers C. primary consumers to secondary
consumers D secondary consumers to
decomposers.

Lichenisan example of

A. asgprophyticorganisn  B.asymbiatic
asodation  C. an epiphytic plant

D. acarnivorousplants.

A physiological adaptation of plantsto the
problem of excessive water lossis

A. reduction in the number of stomata

B. reversal of the normal stomatal rhythm
C. possession of shallow roots

D. possession of waxy cuticle.

Which of thewaysof controlling bilharzia can

resultin pollution?

A Clearing water weedsonwhichthesnailsfeed.

B. Treating infected peoplewith drugs

C. Preventingcontamination of water by infected
urineand faeces D. Applying chemicd tokill the
alls

Which of the following diseases can be caused
by a bacterium?
A. ringworm B. poliomyelitisC. malariaD. syphilis.

Which of the following is a dangerous product of
coal buming?

A. sulphur dioxide B. carbondioxide C. carbon
D. nitrogen.

5g of oven dried soil was heated in afurnace for
24hours, after cooling, it weighed 4.8g what isthe
amount of humusin the soil?

A. 40.0g per 100g dry soil B.4.4g per 100g.dry soil
C. 4.0g per 100gdry soil D. 0.4g per 1009&

47.

Most irrigated lands often become unproductive

in later years because of

A. lossof fertility B.increasein salinity C. sail
eroson D. loss of water

Farmers practices crop rotationbecause it
A. helpsto prevent soiléerosion,B. allows two
cropsto be plantediat the sametime
C. helpsto conserve soil fertility
D. isan alternativeto'shifting cultivation

fe- b
-

I nawhich of the habitant will the plants show
xeromorphic features most prominently?
AX BR CP D.Q

Which ecological factor exerts the greatest
influence on the structure of the profiles?
A. topographicB. edaphic C. bictic D. climatic.

Biology 1990

Viruses are considered tolbe living organisms

because they

A. possesstrangmittable characters  Bymovefrom
oneplacetoancther  C. repondto gimulation

D. ingest food materials

Which of thefollowing eharagterigticsiscommon to

Amoeba and Par 1 Um?

A. Oral grooveB. hoyst’ C. Contractilevacuole

D.Cilia

Hydra removes undigested food by

A. passing it thféghtheanus B. passingit through
the mouth,, .C. meansof acontractilevacuole

D. egedting itthrough' the body surface

Which of the following groups of invertebrates
reproduces by budding

A. Arthropoda B.Annedlida C.Mollusca
D. Codenterata.

The algae, bryophytes and pteriodophytes are
similar in that they

A. areseaweeds B. have no vascular tissues
C. requiremoigturefor fertilization

D. aremicroscopic plants.

The spores of fernsare dispersed by
A.wind B.water C.insects D.explosive
mechanism.
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14.

16.

17.

In bryophytes, sex organs are produced in the 1B
A. gametophyteB. rhizoid C. protonema

D. sporophyte

Usethefigur e below to answer questions8and 9 19,

Thepart labelled 3isthe
A.lesf scar B. lenticd C. auxiliary bud D. girdescar

Which part of the twig produces auxins?

A4 B3 C2 D1

Which of thefollowing animals hashomodont

dentition? 24,
A.Raa B.Man C.Lizard D.Pigeon.

In which of thefollowing does external fertilization
take place? x5,
A.Toad B.Lizaad C.Bird D.Cockroach.

In thetapeworm, the suckers on the scolex are 2.

used for

A. sucking the blood of the host  B. holdihg
fasttothehost C.reproduction D.locometion

A feature which adaptshirds to flight isthe
possession of

A. scally legsB. light bones C. twowahs
D. apointed beak.

Thenephridiain theearthworm form part of the
A. reproductive system B. respiratory.system.
Ccirculatory system D. excretery system.

Which of thefollowing diseasesisrarely spread

by a housefly? 7.
A.Yelowfever B. Dysentesy. C. Typhoid fever

D. Poliomyelitis

<
Which of thefollowing cellsisthin-walled and
living at maturity?
A. CallenchymaBySievetube C. Xylem vessel 20,

D. Sclerenchyma.,

The mode of autrition in which digestion is
extracdluaris
A. holophytic B. parasitic C. holozoic

D. saprophyitic.

Thefirgt step in the process of photasynthesisis the
A. adtivation of thechlorophyil“B. photdys's of water
C. reduction of carbondioxideD. formation of sugar.

Which of the following feod.substanceswill produce
abrick-red colour when warmedWith Benedi cts ssolution
A. GlucoseB. Starch C. Egg white D. Maltose.

The organ which secretes digestive enzymes aswell
as hormoneis the
A.liver B.sdlivarygdland C.pancreas D. spleen.

Thevillus inthe small intestineissignificant because it
A. increases the surface area for absorption

B. increases the surface areafor digestion C. assists
in mixing digested food D. assistsin filtering
undigested food.

If aring of bark and phloem isremoved from astem, the

A plant.diesimmediately B. plant diesafter two days

C..movement of food isnot affected D. movement of
mipéral saltsishardly affected.

Transpiration can be measured with a
A« photometer B. hygrometer C. potometer
D. barometer.

Excretory productsresponsiblefor thered, purple and
blue colours of flowers arecalled
A. alkaloidsB. tannims C. anthocyanins D. resins.

Etiolationiscaused by the influence of
A. mineral saltsB. water C. carbondioxideD. light.

Muscles are indirectly attached to bones by means of
A. ligaments B. membranes C. tendonsD. sultures.

Usethefigure belowtoanswer questions 27 and 28.

Which structureisthe glomerulus?
A.5 B3 C.2 DL

If theblood i stoo concentrated, more water isabsorbed from
A.5B4C.3D.1

Duringmammalian embryo development, large amount
of oestrogen and progesterone are produced in the
A.umbilical cord B. amnion C. placentaD. amniaticfluid.
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The type of placentation shown in thefigure aboveis What stageduring cell division isrepresented in the
A.parietal B.marginal C. axile D.free-central. figure above

A. prophase B. metaphase C. anaphase D. telophase
Fruitswhich developwithout fertilization aredescribed as
A.simpleB. pathenocarpic C. aggregate D. compound 0. An individual intheAB blood groupisauniversa
recipientfor, bl ood conation because

The eéephant grassis propagated vegetatively by A. dl thered'blood cells do not carry antigen
means of B. al'the sed blood cellscarry antigen A
A.corms B.bulbs C.suckers D. solons. C.dll theredblood cell carryantigen B

D. there axenoanti-A andanti-B antibodiesin theserum.
Usethefigure belowtoanswer questions 27 and 28.
40. Haemophiliaresults from the mutation of the genes
A.inthe sex chromosomes B.which contral skincolour
C. which control themechanism for blood —clotting
D. which control theformation of haemoglobin.

41 In a savanna ecosystem, the abiotic factorsinclude
A. legumes, temperature and sandy soil

B. water, temperature and soil C. minerals, oxygen
and reptile D. water, soil and grasses.

All the cell bodiesin the spinal cord arefound in Usethefigure belowtoanswer questions42 and 43.
Al B2 C3 D4

Inareflex action, impulse flowsfrom //’ I]%ﬁ.

A.1to2 B.2tol C.4t0l1 D.4to2 Praying mantis

T Mouze
Thepart of theear that isconcerned withibalanceisthe / ’
A.smi-drular candsB. incusC. mdleusD. B Elp e r
IEAsE NOPRCT
Weevils
Inan organiamwherethe2nd number of diromosomes
1516, thenumber of chromosomesin each gametewill be T
A.32 B.16 C8 D.4 ; ;
Migze Cawpea
What would bethe result of thefirst filial /generation
(F,) andthesecondfilial generation (F)of amono- 42. Which organismisan omnivore?
hydrid cross between pure line normal-winged A. Praying mantis B. Hawk C. Mouse D. Grasshopper.
Disophila?fliesand purelingyshort- winged flies of the
genefor thenormal wing isdominant? 43, Which of the organimswill havethe lowest population
A. F fliesal short-winged and F, flies al’ normal —winged. in an ecosystem?
B. F fliesall norma -winged andF, fliesal short-winged. A. Hawk. B. CowpeaC. Praying mantisD. Mouse.
C. F flies al short-winged and three-quarters of F,
fliesare short- winged 44, Thesalinity of abrackish environment.
D. F, fliesall normal -wingedand three—quartersof F, A.increasesimmediately after rain B. increasesat the
fliesare normal @winged: end of the rainy season C. decreaseswith increase
in micro-organisms D. increasesduring the dry season.
a 45. Physiological adaptation to very dry condition in

animals iscalled
A. hibernation B. aestivation C. rejuvenation
D. xeromophism
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Which st of diseasesis spread mainly by insect vectors?

A. cholera, teniaand gonorrhoea. B. poliomydlitis,
tuberculosis and sypillis. C. cholera, malariaand
tuberculosisD. malaria, choleraand river blindness.

Which of the following constitutes pollution?
A. Droppingsfrombirds B. Loud discomusic
C. Apackof cigarettes  D.Refusein anincinerator.

An acidic soil can beimproved upon by
A. Sedimentation B.Leaching C. Flocculation
D. Watering.

What do becteriain roat nodul es derivefromthehost plant?

A. Protection and minerals’ BuaWater and minerals.

C. Carbohydratesand water D. Protection and
carbohydrates.

Free nitrogen isreleased to the atmosphere by
A. nitrogen fixing pacteria  B. nitrifying bacteria
C.denitrifying bacteria  D. saprophytic bacteria.

Biology 1991

Usethefigurebelow toanswer questionsland 2.

Animal Cell

Which of the following structures is associated with
aerobicrespiration?
Al B2 C3 D4

The structurelabelled 5 isused for
A. protein synthesis B. energy pradu
C. secretion D. excretion.

Angiosperms and gymnosperms belong, to the plant
group known as

A. schizophyta B. bryophyta C. pteridopyta

D. spermatophyta.

Which of the following are non-green plants?
A Euglena B. Fungi CuaSpirogyra D. Angiosperms.

Sting cellsarenormally foundin
A.flatworms B. hydraC. snails D. paramecium.

Which of thefollowing.are differentiated into true
roots, stems and |eaves?

A.Algee B. Sthizophyta C. Pteridophyta

D. Bryophyta

To facilitéteigaseous exchange, breathing roots have
A. tomata Bamitochondria C.cuticle D.lenticds.

8

12

14.

16.

17.

Theannulusof fern sporangium helpsin
A. gporedispersal B. conduction of mineral salt
C. ,trapping of lightenergy D. water retention.

One of the featureswhich adopts paramecium to its
environment is the possession of

A. aregular shapeB. two nuclel C.ciliaD. apellicle.
In the earthworm, the cocoon is secreted by the

A. chagta B. prostomium C.peristomium

D. ditelum.

Thefunction of maxillipedsin crayfish isto aid
A.walking B. svimming C. feeding D. respiration.

Therespiratory organ in the land snail isthe
A.radula B,.mantle C.tentacle D. foot.

Usethefigurebelow toanswer questions13and 14.

5
7 R

A tadpole

Thestructure labelled 4 isfor
A. feeding B. attachment C. excretion D. respiration.

Asthetadpoles develops, the structure labelled 5
A. grows longer B. becomes shorter C. becomesthe
hind legs D. remainsunchanged.

Thegill rakersof fishes take partin
A. feeding B. respiration C. swimming D. diffusion.

A wide pith with aring of conducting tissueis
characteristic of the root of
A.sunflower B.maize C.bean D.okra

Which of thefollowingisformedimmediately after the
first product of photosynthesis?
A.Linid B.Starch C.Oxvoen D. Suaoar
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wieak sugap T L
solution

Usethefigurebelowtoanswer questions18 and 19.

Dissection showing the Abdominal Cavity of arat

In the digestive system, absorption of nutrientsinto
the blood takes placesin the part |abeled
Al B2 C3 D4

Thegland which producestrypsin, amylase and lipase
islabelLed
A.6 B4 C2 D1

One of the accessory organs of the digedtive sysemisthe
A.kidney B.spleen C.liver D.lung.

The dement common topratein, carbohydrateandlipid is
A. hydrogen B. sulphur C. nitrogen D phosphorus.

Thecrown of themammalian tooth is covered with
A.cement B.dentine C.caries D.enamd.

Inliving cells, insufficient oxygen may causea
breakdown of glucose into

A. fatty acidsB. lactic acids C. glycogen

D. carbondioxide.

Which of the following can bring about the'greatest
increasein therateof transpiration?

A. Increased humidity B. Reducedtemperm
C. Reduced wind speed D. Reduced humidity.

Usethefigurebelowtoanswer questions25 and 26.

- -

[ T W= Sirong-sugar
= solution

==t =2 semi-permeable

Jre= el = =] membrane

After 30 minutes, thelevel ofisugar solution the above

figurewill

A.risein X only “Barisein Y only C.bethesamein
XandY D.falin¥.

The process bygwhichwater movesfrom X to Y through
the semi-permeable membraneiscalled

A. diffusion "Bmesmosis C. active diffusion

D. osmoreguliation.

3L

R

Fibriongen and prothrombin play important rolesin the
A. deamination of proteins B. €lotting of blood
C. detoxication of substances_'D. storage of vitamins.

Deoxygenated blood flowsintetheright and | eft lungs
through the

A. pulmonary vein B. vénacavaC. pulmonary artery
D. subclavian vein .

Which of the foll owing is aplant excretory product?
A. Oil B. CytokininC. Resin D. Amino acids.

Themovement of the whole organism to an external
stimulusistermed

A. tropism B. ataxisC. anastic movement

D. a phototrophic movement.

Which iofithe following vertebrate laysacentrum?
A. AtlasB. Axis C. Thoracic D. Lumbar

Thefunetion of the epididymisin mammalsisthe
A. expulsien of urine B. storage of sperms
C. circulation of blood D. activation of sperms.

A callection of achenesformed from several carpelsof
aflower is

A.amultiplefruit B. an aggregatefruit
CJaschizocarp D. asimplefruit.

Vegetative propagation is described as asexual

reproduction because

A. reproductive organsare not involved B. new
individualsarenot formed C. many new plantsare
produced D. thereisnoexchange of genetic
materials.

Epigeal germination can befoundin
A. sorghum B. maizeC. millet D. groundnui.

A dwarf plant can be stimulated to grow to normal
height by the application of
A. thyroxin B. gibberellin C. insulin D. kinin.

Thegreatest contribution to gendtic studieswas made by
A. ThomasMorgan B. Gregor Mende
C. CharlesDarwin D. Robert Hooke.

The exchange of genes between homol ogous
chromosomesiscalled

A. test cross B. back cross C. crossing —over
D. mutation.

When two heterozygotes mate, the dominant trait will

appear in

A.the F generationonly B.theF,generation only

C. boththeF andF, generations  D. neither theF nor
F, generation.

Which of thefollowing charactersisNOT sex-linked?
A. River blindness B. Baldness.
C. Haemophilia D. Cdour Blindness
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Themost important factorswhich influencean

organism’s way of lifeinitshabitat are

A. the physical and biotic environment B. food and
water availability C.temperature, water, light and
predator- prey relationship D. competition for food
and space.

Organismsin an ecosystem are usually grouped
according to their tropic level as

A. carnivores and epiphytes B. consumersand parastes
C. producersand consumers D. producersand saprophytes

DANISMS

Noof org

1]

Time o

Theabove diagram represents acompetitiveinteraction

between organisms in communities | and I1. Which

of thefollowing statement is CORRECT?

A. Thepopulation of | was higher than 11 at the

beginning of the experiment. B. |1 was wiped out from

theenvironment at the end of the experiment.

C. The population of 11 was always|ower than that of |

D. The population of | waslower at theend of the
experiment than at the beginning.

A food web is more stable than a food chain because.

A. it containsmoreorganismsB. it has greaterenergy
sourceC. itisnot easy to destroy D. every organism
has an alternative food source.

47.

Which of thefollowing islikelyito occur in adeciduous

forest during the dry season?

A. New leavesare formed BuLhetreesdieoff.

C. The undergrowth increases D. The ground
becomes bare.

Which of thexeisNOT an adagptivefesturefor arbored life?

A. Possession of a longtail B. Possession of claws

C. Possessionofiteeth  D. Counter shading in coat
colour.

Which of the following diseases can be prevented by
innocul ation?

A. Symphilis B. Malariafever C. Tuberculosis

D. Acquired immuned Deficiency Syndrome.

Sourcesof air pollutantsare

A. industria chimneys, burning fossil oilsand river
dams B. sulphur dioxide, acid rain and pesticides

C. stilphur mines, vehicle exhausts and aerosols

D.sewage, smoke and old vehicles.

Fertilizersarelost from thesoil through

A. /sheet erosion and evaporation B. leaching,
underground seepages and run-off

C. sheet erosion, gully erosion and wind erosion

D. wind erasion and heavy rainfall.

Nitrogen —fixing micro-organi smsin leguminous plants
livesymbictically in the

A. root nodules B.taproots C. branch roots

D. root hairs.

Biology 1992

The organe leinvolved in tissuerespiration isthe
A. endoplasmicreticulum B.ribgsomeC. golgi body
D. mitochondrion.

A tissue can best be defined as.

A. an aggregate of smilarcels B. anaggregate of cells
performing asimilar function'€. an aggregate of
similar cells performing the samefunction

D. amixtured differentod| typespaformingthesamefunction.

Which of thefollowing.correctly summarizesthelife

cycleof aferngéallné?
A. Spore—prathalus 3thalluss_yporangium. B. Maeand
femd egamentangia - zygospore —gporangium-—y
spores.  C. Spore - thalus = spermatozoa+
wumsporﬁum D. Prathdlus—3spermatozaid + eggedl
—eafyplant —porangiumspore

A major difference between platyhelminthesand
coelenteratesisthat platyhel minthes
A.aremulticellular B. have developed amesoderm
C. reproduce sexually D. reproduce asexually.

The essential structural difference between Hydraand

tapeworm isthat while Hydra,

A. hastentacles, tapewormisparasitic

B. isdiploblastic, tapewormistriploblastic C. hasa
mouth, tapeworm feeds by suckers

D. hasmesoderm, tapeworm has mesogl oea.

Theflowering period of plantsinahabitat is determined

by the

A. duration of sunlight B. intensity and duration of
rainfall. C. relative humidity of the atmosphere

D. temperature of the habitat.
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Usethefigur ebelow toanswer question 7and 8.

Thestructure labeled X isused by theorganism inthe
same way as man uses his
A. oesophagusB. trachea C. stomach D. intestine.

Thestructure labelled Y isthe
A. food vacuole B. nucleolus
C. marcronucleus D. contractile vacuole.

Which of the following insects undergoes incompl ete
metamorphosis?
A. mosquito B. Termite C. Housefly D. Math.

An onionisabulb because it

A. hasatuberous stem B. hasareduced stem and thick
fleshy leaves C. has adventitiousroots D. bears
many buds at the nodes.

Theflow of air and water inor out of the mesophyll
layer of aleaf is controlled by the
A. stomata B.lenticels C. air spacesD. guard cells.

Fungi are heterotrophic because they
A. havenoleavesB. lack roots C. arefilamentous
D. lack of chlorophyll.

The major site of photosynthesis in theleaf isthe
A. palisade parenchyma B. mesophyll parenchyma
C. upper epidermis D. lower epidermis.

5cm2dil ute sodium hydroxi de sol ution‘and Scm?® ong
percent copper sulphate solution are add

sol ution of food specimen. The purpleceleur which is
observed shows the presence of

A.dlucose B.starch C.fat D. protein.

The blood vessel which carries blood/ fromithe
alimentary canal totheliver isthe

A. hepatic artery B. hepaticvein C. hepatic portal vein
D. mesenteric artery.

Gaseous exchange in Aves occursin the
A. tracheolesB. bronchi C. air sacsD.trachea.

In the absence of oxygen, the, pyruvic acid produced
during glycolysisiseonverted to Co,and
A. water B glycerol Cethanal D. citricacid.
a
The excretory organ injinsect isthe
A. kidney B. mapightantubule C. flamecdl

D. nephirdi unfigg,

24,

Usethefigur e below toanswer questions19 and 20.

The structurelabelled 5isthe
A.sweat gland B. sebaceous gland C. blood vessdl
D. nervefibre.

Meé anin‘and kerantin are produced in thepart |abelled
A2 B3 C4 D5.

Theboneof theneck onwhich theskull restsisknown asthe
A. odonteidprocess B. axis C. alas D. ocdpitd condyle

\Which enzymes arecontained in the pancrestic juice?

A Ptyalin, lipase and pepsin B. Maltase, erepsin and
trypsin. C. Rennin, surcraseand lipase D. Amylase,,
lipase and trypsin.

Usethefigure belowtoanswer questions 23 and 24.

Thepart labeled 3isthe
A. cartilageB. ligament C. synovia fluid D. bone.

The function of thepart labeled 1isto

A. screteafluidwhichlubricatesthejoint - B. attach
musdestothe bones at thejoint C. bend the bones
atthejoint D.hddthejantinplace

Doublefertilization in higher plant issgnificant

because it ensures the

A.formaion of afertileembryo B. formation of afertile
embryoandtheendogperm C. devdopment of the seed

D. devd opment of thefruit.

Inmammalian devd opment, thefunction of theyol k isto

A. supply nutrientstothe embryo B. actsas the shock-
absorber to the foetus C. supply air to the embryo

D. facilitatethe process of excretion in the foetus.

Hydrogeal germination scharacterized by the
A. emergence of the plumule out of the ground
B. provision of nourishment by the endosperm
C. dongation of the hypocotyl

D. elongation of the epicotyl.
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Fruitswhich developwithout fertili zation of theovuleare
A.false B. multiple C. aggregate D. parthenocarpic.

Usethefigurebelow toanswer question 29 and 30

-

TR R e

¥

Time

Which part of thecurverepresentsthefastes rate of growth?
A.K BL C.M. D.N.

The grand period of growth is represented by
A.N B.M C.L. D.K.

Neuronsthat receive stimuli from thebody or internal
organsarecalled

A. nory neurons
C. motor neurons

B. éferent neurons
D.relay neurons

Which of thefollowing istrue of aclimax community?

A. It persistsuntil theenvironment or climate changes.

B. It changes drastically from oneyear tothe next

C. Itisthefirst stagein succession. D. It ismade up.of
thetallest trees and the smallest animals.

A population isdefined asacollection of similar
organismsthat

A. behavein the sameway B. interbreed freely

C. arefound in the samehabitat D. eat the same food.

Intypical predator food chain involving secondearyand

tertiary consumers, the organi sms become progressively

A. smdler and morenumerousaong thefood chain

B. equd in number and Szedongthef i

C. larger andfewer dongthefoodchain:\D. paragtized
adong thefood chain asconsumersget  bigger.

Usethefigure below toanswer guestions35 and 36.

LN

[’I \lgae

Whichleve of thepyramidhastheleedt totd sored energy?
A.E B.FamEG D. H.

Which organismiffthe pyramid functionsas atertiary
consume:
A.Algae. ByShark. C.Tadpole D.Tilapia

41

47.

Mangrove swamp can be found

A.on aseashorewith flat terrain, B. whereariver
meets the sea C. on amud flat near the sea.

D. wheretwo rivers mest.

Soil with thefinest particlesiscalled
A.dlt B.clay CrsandiD.gravel.

Mal aria symptoms arelcaused by
A. toxinsrdessedintothe blood asareult of the
destructionof red biood cdls B. themultiplication
of themdarid ‘gparezoitesintheliver. C. theinvason of
thered blood cdIs by the trophozoiters
D. the deve opment of merozaitersintogametocytes.

Which of the following istrue of the children of a

haemophilic man who marriesawoman that isnot

haemophilic.and does not carry thetrait?

A.All thersonswill be haemophilic. B. All their
daughter will be haemophilic. C. All their daughters
will becarriers. D. All theirssonswill becarriers.

A child with blood group genotypedifferent from those
of both parentsand with a mother of genotype OO,
can only have a father of genotype

A.A  B.B C.AB D.OO.

If Randr denotethe genesfor acharacter, the offspring
of the cross between RR and Rr are
A.RR,2Rrir B.2RR2rr C.2RR,2Rr D.4Rr.

A mammal with red fur and long earswas crossed with
another having whitefur and short ears. If the offgpring
had red fur and short ears, then the

A. charactersarelinked  B. charactersarenot linked
C. parentsareredated D. parentsare not related.

Pawpaw seeds coll ected from atreewith many desirable

agronomic qualitiesdid not give rise to plants of

desirable characters asthe parent because

A. seeds are not reliable for propagating plants

B. uncontrolled out-crossing can introduce unwanted
variability C. vegetataive propagation isthe best
form of reproducion for all crops D. seeds were not
physiologically mature at harvest.

Women do not suffer from colour blindness

A. becausethetrait issex-linked B. only men arecolour
blind C. the genes arerecessive and sex-linked

D. the genesoccur on both theX and Y chromosomes.

Thehereditary material of thecell is
A.theRNA B. protein C. theDNA D. carbohydrate.

An example of plant adaptation to axerophytic

environment is represented by the development of

A. fleshy tissues and reduced leaves B. broad canopy
and extensivesurface root system  C. thick barks
and broad |eaves

D. rough leaves and shallow root system.
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Which of thefollowing factors iSLEAST likelyto
affect theanimalsliving in afresh water habitat?
A. Turbidity B. Temperature C. pH. D. Salinity.

The theory of natural selection was developed by
A.Lamarck and Darwin B. Darwin and Wallace
C.Wallaceand Mendd D. Mendd and Lamarck.

Onwhat gructures aretheunitsof inheritancesituated?
A. Golgi bodies B. Ribosomes C. Chromosomes
D. Endoplasmic reticulum.

Production of naked seeds is a distinctive feature of
the group of plant called?
A. grasses B. conifers C.legumes D. palms.

In which of these features do bryophytes differ from
pteridophytes?

A. Absenceof flower B. Alternation of generation
C. Dependenceon water for reproduction
D. Presence of avascular system.

Which of thefollowing organs or cell componentsare
common to both the sporophyte and the gametophyte
of afern?

A. Rhizoids B. Roots C. Chloroplasts D. Leaves.

In which of thefollowing organismsdoesasinglécell
perform all thefunction of movement , nutrition, growth,
excretion and photosynthesis?

A. Paramecium B. EuglenaC. Amoeba. D. Spirogyra

In which of thefollowing organismswoule
be stored?

A. Spirogyra. B. Chlamydomonas. C. Rattus
D. Magnifera.

The most successful group of animal sinterms of
diversity of speciesis

A. mollusca B. arthropoda C. mammalia

D. playthehelminthes.

Flamecdlsarethe

A. excretory system of wormsB. excréetory and
respiratory system of flatworms C. excretory system
of flatworms D. excretory system of flatworms.

The spores of mucus are dispersed by
A. water B. wind ChimsectsD. explosive mechanism.

a
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Fossi| records found in sedimentary rocksoffer some

explanation for the theory of evolution because

A. the deposits have remainsof organisms
characteristic of when they wereformed

B. different strata have remains of organismsof the
samekind C. only organismsywith strong parts
arefossilized D. mest animal sand plant fossilsbear
little resemblancetopresent day living specimens.

Biology 1993

Usethe figuresbelow to answer questions 10 and 11

5

Which of thefollowing is the correct order of the
development stages?
A.lazasas4as
C.2alasadas

B.5ai1as3aza4s
D.5as3azalal.

Stage 3 breathes
A. with thelungsB. with theexternal gillsC. with the
internal gillsD. through the skin.

Thebutterfly isof great economic importance because

A. of itsuin sdentificsudies B. it sucks nectar from
flowersC. it addsto thebeauity of the environment

D. it pallinatesflower of cropsand ather plants

Manufactured food in the plantsis transported through the
A.xylem B.phoem C.cambium D. cortex.

Interveinal chlorosisisnormally associated with the
deficiency of
A. magnesium B. potassum C. iron D. calcium.

Osmic acid boiled with a solution of food substance
gaveablack precipitate. Thisindicated the presence of
A.fatsand oilsB. proteins C. aminoacids D. starch.

Which of the labeled parts isthe diastema?
A.2 B.3 C4 D.6.
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Thelower jawistypical of a
A.sheep B.rabbit C.dog D.cat.

The end products of the digestion of fats and oilsin
mammalsare

A. maltose and fatty acids B. amino acids and glucose
C. fatty acidsand fructose D. fatty acids and glycerin.

Usethediagram below toanswer questions19and 20

Themammalian heart

Blood ispumped into the right ventricle by the
contraction of theauriclewall through
A.l B.3 C5 D.6.

After circulation in thelungs, the blood returnsto the
left auriclethrough
A.l B.4 C5 D.6

Themain function of blood in mammalsistotransport

A. excretory materialsfrom tissues B. carbondioxide
from lungsto tissues C. digested food fromiall the
body tissues. D. oxygen to the lungs.

Members of the phylum Protozoa use the contractile
vacuole

A. toremove excessfood B. for movement

C.for digestion D. toremove excess water.

The response shown by the tips of the root shoot
of aplant to the stimulus of gravityis

A. haptropism B. phototropism C#hydrotropism

D. geotropism.

Which of the following isthecorrect order of the
vertebraeaong the spinal column?4

A. Axis—atlas-thoraci = umbar-cervical3sacral
B. Atlascervicalaxisthoracic-3lumba— sacral.
C. Atlasaxis cervical-theracicdumbar sacral
D. Axis=cervical =thoracic-sacral - lumbar.

Which of thefollowing is TRUE of the process of

conjugation in Paramecium?

A. Micronucleusdisintegrates. B. Each ex-conjugant
divides onlygoncenC. Macronucleus undergoes
division D. Each micronucleus dividestwice.

The bright colours of the comb and feathersin the
peacock arefor

A. sex differentiation B. beauty C. courtship

D. defence

3L

The main function of thepetal of aflower isto

A. attract pollination agents. Byprotect the flower while
still in bud C. serve aslanding stage for insects

D. protect theinner parts from,desi ccation.

In themammal, the automonichervous system conssts of
A. sympathetic and parasympathetic systems.

B. brain and spinal,nerves C. brain and cranial nerves
D. spinal cord and spinal nerves.

Usethediagram below toanswer questions29 and 30

G

Soil surface

Germination of Sceds

In Hythe cotyledons are carried above the soil because
A. the epicotyl grows faster than the hypocotyl

B the hypocotyl grows faster than the epicotyl

€. both grow at thesamerate

D. the epicotyls out grows the radicle.

Thefunction of the structurelabelled G isto

A. carry out initial photosynthesis for the seedling
B. protect the young leavesfrom mechanical damage
C. protect theyoung leavesform sunlight.

D. protect the young | eaves form insect.

When it is cold, the blood vessels of the skin

A. dilatetoincreasethe amount of blood flowing tothe
sKin B. constrict to reduce the amount of bl ood
flowing totheskin. C. dilate to reducethe amount
of blood flowingtothe skin D. congtrict toincrease
the amount of blood flowing totrEskin.

Which path does sound entering thehuman ear follow?
A. Ovd window—pssides—ear drum B. ear drum-3oval
window—=ossicles. C. Ear drum- ossicles3 oval
window. D. Ossicles—ear drum—= oval window.

What would happen to aman whose pancreas hasbeen
surgically removed?

A. Thelevel of blood sugar would increase.

B. The glycogen content of the liver would increase.
C. Hisblood pressurewould decrease. 4

D. Hisweight would increase appreciably.

Carnivorous plantsare usually found in area

A. which aredeficient in nitrate B. which are deficient
in oxygen C. withlow pH

D. whereinsects are abundant.

What isthe term used to describe thesum total of
biotic and abictic factorsin theenvironment of the
organism?

A. Habitat. B. Biome. C. Ecosystem D. Ecological niche.
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Important abiotic factorswhich affect all plantsand

animalsin the habitat are

A. temperatureand turbidity B.rainfall and relative
humidity C. salinity and winddirection

D. temperatureandrainfall.

Themost important physical factor which affectsan
organismliving in theintertidal zoneof theseashoreis
A. pH B. salinity C. waveaction D. temperature.

At which trophiclevel would the highest accumul ation

of a non-biodegrable substance occur?

A. Primary producers. B. Tertiary consumers. C. Primary
consumers. D. Secondary consumers.

Two organisms of different species, livingin close
association but not dependent on each other are
referred to as

A. parasites B. commensals C. symbiots D. autorophs

Which of thefollowing instrumentsisNOT usedin
measuring abiotic factorsin any habitat?
A.MicarosoopeB. Thermameter C. Hygromeer D.Windvane

Plantsadapted for life in salty marsh arecalled
A. hydrophytes B. xerophytes B. halophytes
D. epiphytes.

Which group plantswould be thefirst colonizersin an
ecological succession changing rocks to soil?
A Mosses. B. FernsC. LichensD. Grasses.

Soil fertility can be conserved and renewed by

A. yearly mono cropping B. crop rotation and cover:
crops C. bush burning to remove unwanted debris

D. avoiding artificial manures.

What ecologicdl condition favorsthebreeding of black flies?
A. Fresh water habitat B. Water in ponds and'swamps
C. Water in small containersD. Fast flowi n@.

Carbon monoxide poison tissues by

A. constricting the blood vessals Bukilling the cells

C. combining with haemoglohin, D. rupturing theblood
vessals.

Which of thefollowing is an exampl e of discontinuous
variation observed in man?

A. Skin coloursB. Tongue rolling C. Body weight

D. Height.

During blood transfusion, aggluti nation may occur when

A. Contrasting antigensféact with contrasting
antibodiesB. Similar antigens react with

C. two different antigens react with each other

D. two different antibodies react with each other.

Gamete from one Parent

Cf

55 5=

an

a5 i%

the other Parent

LGamete rom

= =gmooth
5= wrinkhed

In the illustration above, the genotypes of the

offsprings are

A4 1 heterozygous smooth : 2 homozygous smooth:
1wrinkled B. 1 homozygoussmocth : 2
heterozygous smooth 1 wrinkled

C. 2homozygoussmooth : 2 wrinkled

D. 3heterozygoussmooth : 1 wrinkled

Cold blooded animalsarereferred toas
A. poikilathermic B. homoiothermic
C. polythermic D. homeostatic

Which of the organism has lost the pentadactyl limb
structure?
A.Bat B. Fish C. Frog D. Pigeon.

Biology 1994

The membrane surrounding thevacuolein aplant cell
iscalled the

A. plasmalemma B. tonoplast C. nuclear membrane
D. endoplasmic reti cul um:.

The smallest living organismswhich sharethe
characteristics of baihliving and non-living matter are
A. bacteriaB. fungi Ciwviruses D. protozoa.

Green plants are distinguished from other living
organisms by thar ability to

A. make useofwater, B. make use of oxygen

C. respond to sunlight D. manufacture their own food.

Thesoil swallowed by the earthworm to form theworm
cast isground up in the
A. ditdlium B. prososium C. mouth D. gizzard.

Whichisthe correct order in an evolutionary sequence
for the following plant groups?

A. Bacteriasferns—al gae—mossesJseed plant.

B. Bacteria—3 fernssmosses yalgae— seed plants

C. Bacteria—ya gaey mosses- ferns— seed plants

D. Bacterias mosses—algae—¥erns- seed plants.

In Amoeba, osmoregulation iscarried out by the
A. pseudopodium B. food vacuole C. contractile
vacuole D. nucleus.
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Usethediagram belowtoanswer questions 7 and 8. 13 Thefailure of transport and respiratory systemsin
plantsaswel| asthe presence ofireddish colour in stems
and leaves result from the deficiency of
A. magnesium B. nitrogen C. petassium D. phosphorus.

14. Thedental formula 3 1 pmé m2isthat of a
3 1,4 3
A.goat B.rabbit, C.man D.dog

15 Thenitrifying bacteria, Nitrasomonas, convert ammoniato
A. nitrites B.lnitricacid C. nitrates D. nitrousoxide.

16. The activity of ptyalin of ptyalin islikely to decrease
with an increasein the concentration of
A.oxygen B.starch C.protein D.acid.

17. The phloem parenchymais sometimes used for
A.foadstorage B. supportingthestem C. production
Head of a cockroach of thesieve tube D. transporting water.
The part used for feeling islabelled
Al B.J C.K D.L. 18 Theprocess by which ared blood cdl placed indistilled
water@bsorbs until it bursts and releases its contents
The mouth part of theinsect is adapted for inta the surrounding isknown as
A. biting and chewing B. suckling and chewing A. asmosisB. plasmolysisC. turgidity D. haemolysis.

C. biting and sucking D. piercing and sucking.
Usethediagram belowtoanswer questions 19 and 20.
Whi ch of thefollowing combinations differentiatesa
bony fish from a cartilaginousfish? | Presence of gills.
Il Absenceof gill ditsll1 Possession of bony skeleton

IV Possession of laterally compressed body V TL- '
Possession of dorso ventrally compressed body | —
A.lLlIlandll. B. I,lllandlV. C.II, 1 and V. f I_
D. 1,11 and V. / \
Living plant
Which isthe most important adaptation of a bony fish Living animal H"T“"r"
tolifein water? specimen
A. The possession of a streamlined shape NaOH
B. The presence of overlapping scales G
C. Thecovering of the body by thin film@fshine.
D. The possession of a caudalfin. 19, The most appropriatetitlefor theset upis
\ A. quantitativemeasurement of respiration in plants
Usethediagram below toanswer questions 1Tand 12 andanimals B. measurement of repiratory ratesin
livingorganisms C. comparison between

photosynthes sand respiratory
D. comparison of repiratoryratesin plantsand animals

2. Thepart labeled Jiscalled
A.porosimeter B. porometer C. manometer
D. auxanometer.

2L A circulatory system that does not allow mixing of
oxygenated and de-oxygenated blood in mammalian
heartisreferredto as
A. open B. haemacoelic C. single D. closed.

Which of thelabeledpart allows for efficient absorption 2. Which of the following waste productsin plant is
of water and mitaeral.? excreted through the stomata and lenticel s?
Al B.l] C.lll. D.IV. A. Carbondioxide B. Alkaloids. C. Tannins
D. Anthocyanins.
Starch isuagually'stored in the part labelled
Al B.1ly, Clll. D.IV.
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Usethediagram belowtoanswer questions23and 24.

Thevertebraillustrated is
A.lumbar B.thoracic C.caudal D.cervical.

Theneural arch islabelled
A.l. B.1I C.l D.IV.

In animals, meiosiscomes
A. after fertilization B. after every mitotic division
C. beforefertilization D. before every mitotic division.

Thefleshy base of aflower towhich thedifferent floral
parts are attached is known as
A. calyx B. sepalsC. thalamus D. hypothalamus.

When a short-sighted person views a distant object
without spectacles, theimageisformed
A.ontherdinaB.in frontof theretina C. behindtherdtina
D. ontheblind pot.

_ 4 Dog
= 7
£ 30 - Ve
2 &7
£ 20 5 gyf
10 - i v
s

10 20 30 4D

External temp. ("C)

The graph showsthe relationship between the body
and atmaospheric temperaturesfor dog and lizard. What
is the most appropriate deductionithat could be made
formthe graph?
A. Lizardsaremorelikely to survive hazardsthan dogs.
B. Both animal s mai ntarnyaconstant body temperature
C. The dog's body temperature isindependent of the
external temperature, D.The lizard’s body
temperature vafieswithithat of the dog.

The part of the brainthat controls heart beat and
breathing is

A. olfactory lobe

C. cerebral‘hemisphere

B. cerebdlum
D. medullaoblongata.

30.
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Usethelig of ecological constituentsbelow toanswer
guestions30and 31

1. Mango 2. Speargrass ( 3. Goat
5. Temperature 6. Beans® 7. Rock

4. Sheep
8. Water.

Items 1-4 can beregarded as
A. apopulation B. acammunity C. an ecosystem
D.aniche.

The physical factors are represented by
A.156, B.457, C5i%8; D.6,78.

Which of thefollowing setsis made up of decomposers?
A. Rhizopus, earthworm and protozoa

B. Mushroom, rhizopus and bacteria

C. Bactesia, earthworm and nematodes

D. Earthwerm, sedgesand platyhel minthes.

Thefcorreet.order in afood chain involving the
organisms (1) Grasses, (2) Hawks, (3) Snakes, (4)
Grasshopper, (5) Lizardsis

A.12345 B.54321 C.14532 D.32451

Theerganismswith theleast number of individualsin
apyramid of numbersarethe

A. secondary consumers B. tertiary consumers
Chprimary producersD. primary consumers.

Use thelig of blomesbe owtoanswver questions35and 36.

1. Desert 2. Rainforest 3. Southern Guinea
savannah 4. Northern Guineasavannah.

A biomewithalow annual rainfall, few scatteredtrees
within dense layer of grasses and found in Kano and
Katsina Statesis

A.l B.2 C3 D4

A biom where small mammals undergo aestivation for
long periodsis
A.l B.2 C3 D4

Ecologica sucesson endswith theformation of astable
A. nich B. population C. pionexr community
D. dimax community

In adrought situation, plants suffer from water stress

which could resultin

A. reduced biochemical activities B. enhanced
chemical activities C. enhanced microbial activities

D. reduced phototropic activities.

The water-retention capacity of asoil indicates its
A. fertility B. capillarity C. aeration leved D. pHlevel.

Peoplewho suck petrol with their mouths run therisk
of increasing in their blood the concentration of
A.iron B.lead C.calcium D.magnesium.

Thedifferences and similaritiesamong living things
account for
A. diversity B. stability C. competition D. evol ution.
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Peoplewith sickle-cell anaemia have haemoglobin
A. Sand are homozygous recessive

B. A and are heterozygous recessive

C. Sand are heterozygous recessive

D. A and are homozygous recessive.

Inthegenelocusfor eyecolour in humans theallde
for brown eyesisdominant over thedldefor blueeyes
If ahomazygous brown-eyed girl hasa brather with
blueeyes, what arethe likdy phenatypesof their
parents eyecolour?(Eyecolour isnot asex-linkedtrait).

A. Both parentshave blueeyes. B. Their father has
blue eyes and their mother has brown eyes.

C. Both parentshave browneyes. D. Their mother
has blue eyes and their father has brown eyes.

If awoman'’s genotypeisTt Qg Rr, what would be the
gene content of her eggs?
A.TQta B.TOQR/tgr C.TgR,tQr D.tQr, TQR.

Thesex-linked defect in which very dight cut produces
severe bleeding is known as
A.anaemiaB. anorexiaC. haemophiliaD. haemolysis

Which of the following does avirushavein common
withanimal cells?
A. Nucleus B.DNA C. Glycogen D. Cytoplasm.

Which of thefollowing organdlesarelikdy to be present

in cellsthat areactively respiring and photosynthesizing?

A. Nucleolus and centrioles B. Mitoehondria and
chloroplast. C. Lysosomesand ri

D. Golgi apparatus and endoplasmicéticulum:

One common characteristic of fungi, algae, mossesand

fernsisthat they

A. show alternation of generations Bareproduce
sexually by conjugation  C.produce sporesthat are
dispersed D. possesschlorophyllfl! in their tissues.

Usethediagram belowteanswer question 4and 5

47.
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A manwho hasthe trait for colour blindnessmarriesa
normal woman. What percentagedf their children would
be sufferers, carriersand nermal respectively?
A.25% and50%  B. 25%, 50%and 25%

C. 50%, 25% and 25% D. 25%, 37.5% and 37.5%.

Breathing root i s an adaptation for survival in the
A. mangrovesvamp B. desart C. arbored habitat D. savanna

Red col oration®@n'the head of amalelizard helpsit to
A. mark itsterritory B: camouflagein the environment
C. secureits mateD«defend itself.

A phenomenon by which an animal goesinto astate of
dormancy during thedry season iscalled

A. hibernation "B. aestivation C. incubation

D, deactivation.

The anatomical evidence usually used in support of
al evelutionary relationship among whales, humans,
birds and dogs is the possession of

A. thick skin B. pentadactyl limb C. tail

D. epidermal structures

Biology 1995

Protein-like bodies are borne on the part labelled

A.ll B. 1 C.lv DW

The sexual reproductivefunctionsisperformed by the
part labelled

Al B.1I Clv DV

Which of thefdlowingistransmitted through mosguito bite?
A. Filariasis. B. Typhus. C. Plague. D. Schisosomiasis.

Which of the following insects laysits eggsin horny,
purse-like cases?
A. Mosquito. B. Butterfly. C. Termite. D. Cockroach.

In which of the following vertebrates doesthe skin
function as arespiratory surface?
A.Rat. B.Lizard. C.Fish D.Frog.

Birdsmaintain their body temperature with thehdp of their

A. blood which maintains constant temperature

B. featherswhich cover thebody C. skinwhich
conservesmoisture D. veinswhich transport fluid
of constant temperature to all body tissues.

Secondary thickening in dicotyledonous stem is
controlled by the A. xylem B. phloem C. cambium
D. pericycle.
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2H,0-2H, + Oz(g). The equation above representsa part
of thelight stage of photosynthesis. Which of the
following must be present for this reaction to occur?
A. Enzymeand light energy. B. carbondioxide and light
energy. C. Light energy and chlorophyll 11.

D. Chlorophyll and enzyme.

In an experiment toinvestigate the effect of nitrogen
on the growth of plants, the substrate should be a
medium of

A. washed and sand B. saw dugt C. cowdung D. day sail.

Which vitamin plays animportant rolein blood clatting?
AVitaminA  B.VitaminK  C.VitaminB,,. D.VitaminC.

The mammalian organ which actsboth as adigestive
and as an endocrine organ is the
A. oesophagus B. liver C. pancreasD. spleen.

Which of thefollowing isNOT involvedin thetransport
of substances in the body?
A.Lymph B.PlasmaC. LeucocytesD. Erythrocytes.

The end product of glycolysisin plantsand animalsis
A.pyruvicacid B.citricacid C. aspartic acid
D. malicacid.

Duringrespiration, air drculatesround plant tissuesviathe
A. lenticels B. stomata C.guard cdls
D. intercellular spaces.

Theexcretory structurein the earthworm isthe

A. malpighian tubuleB. flamecell C. nephridium

D. kidney.

During the bending of the arm, the biceps muscle

A. contractsand thetriceps muscle relaxes

B. relaxesand thetriceps muscle contracts

C. andthetricepsmuscle contract D. and thetriceps
musclerelax.

When ahesalthy shoot of afl owering plant iwed

from one side, auxinsaccumulate on the

A. non-illuminated side of the shoot

B. illuminated sideof theshoot  C.“upper side of
theshoot D. lower side of the shoot.

Usethediagram belowtoanswer‘questions21 and 22.

ovule

placenta

-
The type of placentation shown is
A.axid B.margina™C. parietal D. centra

«a
An example of aplant having the placentation shown is
A alamander™=B.hibiscus C. water lily
D. pride of Barbados.

24,
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Theterm caryopsi sisused to describeafruit in which the

A. testa and pericarp are separateiyB. seed and
endocarp arefused C.testaandpericarp are
fused D. seed coat and fruit wall,areimpermeable.

The sex of afoetus is determinediduring
A. meossB. copulationC. fertilization D. placentation.

Biological growth refers'strictly to anincreasein the
A. protoplasm of amérganism B. number of organisms
C.sizeof anorganism D.\devel opment of form.

The process of walking isunder the control of the part
of thebrain called

A. opticlobe B.olfactorylobe C. cerebellum

D. medulla oblongata.

Theglanddirectly affecting metabolic rate, growth and
development isknown as
A. afrenalygland

C. mammary gland

B. thyroid gland
D. parathyroid gland.

Usethediagr am below toanswer questions 28 and 29

Dremdrines
Nuocleus

x

Muscle lbres

Thediagram represents
A. sensory neurone
C. afferent neurone

B. relay neurone
D. motor neurone.

Thepart labelled X isthe
A.axon B.cdlbody C.termina dendritesD. synapse.

Which of thefollowing ionsisinvolved in the
conduction of the nerve impul se?
A.Ca& B.K* C.H* D.Mg*

The depth of illumination in awater body can be
measured with a

A. photometer B. secchi disc C. hydrometer

D. anemometer.

Inafood chaininvolving aprimary producer, aprimary

consumer aswell asa secondary consumer, the sharing

of trophic energy isin theform that the

A. primary consumer hasmoreenergy than theprimary
producer B. secondary consumer takesup all the
energy contents of the primary consumer

C. energy isshared equally between the three groups
of organism. D. secondary consumer getsonly a
small portion of theenergy contained in theprimary
producer.
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In spite of theremoval of carbondioxide from the
atmosphere, itsamount remains more or |ess constant
because

A. it is produced by green plantsduring
photosynthesis. B. it is produced during respiration
by animalsC. it isabsorbed in ocean water

D. green plantsreleaseit during the day.

In atropical rain forest, non-epiphytic fernsand fern
alliesoccur as

A. middle storey species B. upper storey species
C. shade-loving species  D. emergent species.

Colonization of abarerock surfaceistermed
A. evolution B. speciation C. primary succession
D. secondary succession.

Which of thefollowing isa measurefor the control of
bilharzias?

A. Cutting low bushes around homes

B. Application of molluscicidesin water bodies

C. Screening windows and doors with mosguito nets.
D. Application of herbicidesin water bodies.

Some of the diseases caused by bacteria are
A. tuberculosis, gonorrhoea and syphills
B.tuberculosis, gonorrhoeaand AIDS

C. Poliomydlitis, syphilisand  gonorrhoea
D.AIDS, choleraandtuberculosis.

Environmental pollutants which can work through the
media of water, soil and air include

A. carbon monoxide B. noise

C. sulphur (1V) oxide D. smoke.

Human height isan example of afeature whichidepends
on both

A. genotype and phenotype B. genetic and
environmental factors C. mother’s genotypeand
environmental factors. D. phenotipiciand environmental
factors.

A person with type O blood can denate towapati ent

with type A because the donor’s bloed

A.lacksantigens B. lacksanti-A antibodies

C. lacks anti-B antibodies D /hasbeth.anti-A and
anti-B antibodi\s.

Usethediagram below toanswer questions1and 2.

41
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The DNA moleculesisachain of repeating
A. nucleosides  B. nitrggenous bases
C. sugar Sphosphates D, .hucleotides.

The specific number of'chromosomesin each somatic
cell isrepresented by
A.28 B.23 CZ2NODN.

A man with blood groupA*is married to awoman with
blood group A #Which of the following group
combinationsispossibleif thefamily hasthree children?
A. B,AAB:y3wBfO.AB. C.B,AB,AB.

D. A OA.

TheF, of a cross between atall and a dwarf plant was
tall The Fwas advanced to F,. How many of 120F, plant
will be dwarf?

A.300, B.60 C9 D.120.

The sans of acol our-bind woman will be colour blind
regardless of the state of the father because

A. thesegg determines the phenotype of the son

B. sonsinherit the sex chromosomes of their mothers
C. thefather’s sex chromosomeisweaker in sons
Dysex-linked traitsexpressdominancein females.

The dender, long and dlightly curved beak of the sun-
bird is an adaptation for feeding on
A. nectar B.small seeds C. higseeds D. insects.

Scaleson reptiles are afeature for
A. conserving water B. conserving food C. protecting
theskin D. locomotion.

The colour of the ventral surfaceof afish islighter

than that of thedorsal. Thisismainly

A. an adaptation for moment B. an adaptation for
camouflage C. for attracting mates

D. for regulating body temperature.

The least evidence in support of the theory of
evolution is provided by the study of
A. anatomy B. ecology C. geology D. embryol ogy.8

From which group of animalsarethemammalsgeneraly
believed to have most recently evolved?
A. Reptiles. B.Fishes. C. Amphibians. D. Birds.

Biology 1997

The structure labelled | isthe
A. Golgi body B. mitochondrion
C. endoplasmicreticulum D. vacuole.

Protein issynthesized in the part labelled
A.I1B.IIC.IID.IV.

Which of the following is the youngest plants tissue?
A. Merigem. B. Phloem C. Epidermis. D. Xylem.
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Virusdiffer from all formsof life becausethey

A have athick cell wall B. feed on waste products
of other organisms C. causeinfectious
diseases D.requireother living celstomultiply.

The endablast cellsfound in Hydra are used for
A. reproduction B. offence and defence
C. locomotion and nutrition D. food collection.

Annelidsdiffer from nematodesin that they

A. exhibit bilateral symmetry B. aretriploblastic

C. aremetamerically segmented D. possesscomplete
digestive system.

Which of thefollowing perform similar functions?

A. Ascospores and ascocarp. B. antherozoids and
rhizoid. C. Sorusandindusium. D. Strobili and
inflorescence.

In ferns, the saprophyte
A. develops from a haploid zygote B. reproduces
sexually to produce spores C.ishaploid and
dependent on the gametophyte D. isdiploid and
independent of the gametophy.

The group of insects that undergoes complete

metamorphosisis

A. houseflies, beetlesand cockroachesB. cockroaches,
grasshoppers and bees C. houseflies, beetles and
butterflies D. aphids, grasshoppersand butterflies

The nitrogenous substance that is excreted by birdsin
order to conserve water is
A.ammonia B.urea C.uricacid D. nitricacid:

In mammals, the exchange of nutrients and metabolic
products occurs in the
A.lymph B.lungsC. heart D. liver.

The part of the stomach nearer the gulléhis'called the
A. epiglottisB. cardiac sphincter C. du
D. pyloric sphincter.

Traceelementsarerequired by plantsmainly for the
A. formation of pigmentsand enzymes

B . production of energy and hormones

C. manufacture of carbohydrates

D. manufacture of proteins.

Usethediagram below toanswer questions14 and 15.

miy T
£

1

i
i

!
2=
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L1G

The part that igsimilar toboneis |abelled
A.lV - Bl =CT D.l.

The parts |abelfediiand |1 congtitute the
A.crown_ B.neck C.root D.gum

16.

17.
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A food substance wastreated with afew drops of Sudan
[11 solution and ared col oration'wasobtained. The
food contained

A.protein B.starch C.fal Diminera salt.

Oozing out of water from the leavesef plantsin ahumid
environment isknown as
A. trangpiration B. osmosis C. pinocytosis D. guttation

The element that is@ssential for the coagulation of
blood is
A. potassium B. calcium,€. phosphorus D. iron.

Anaerobic respiration differs aerobicrespiration by

the production of

A. lessamount of energy and water B. greater amount
of enesgy and alcohol  C. less amount of energy
and alchehoal., D. Greater amount of energy water.

Stomata peres open when thereis

A. anincreasein the sugar content of guard cells

B. adecreasein the osmotic concentration of guard
cells, C. adecreasein the sugar content of
mesophyll cellsd. an increase in the sugar content
of;mesophyl| cells.

The process of deamination is essential for the
Apdigestion of protein  B. secretion of bile
C. formation of urea D. formation of antibody.

A band of connectivetissue linking two bonesin a
joint isknown as

A. tendon B. cartilage C. synovial membrane

D. ligament.

Theappendicular skdeton iscompased of thepectord girdle

A. pelvic girdle foreand hindlimbs B pelvicgirdle
andforelimbs C. lumbar vertebrae and pelvic
girdleD. lumbar vertebrae, foreand hind limbs.

The companion cellsare part of the
A.pericycle B.phloem C.pith D.xylem

In which of thefollowing groups of vertebrateswould
the largest amount of yolk be found in the egg?
A.Mammals B.Fishes. C.Amphibians. D. Reptiles.

Usethediagram belowtoanswer questions26 and 27.

VoIV I !
Thefunction of the part labeled V isfor the passage of
A. pollen tube and pollen nucleusB. air, water and
pollen nucleus C. air, antipodal cells and ovum
D. synergids and egg cell.

The female gamete isrepresented by
Al B.1I C.lll  D.IV.


http://www.jambcbttest.com
www.jambcbttest.com

3L

The type of vegetable reproduction illustrated in the
diagram aboveis

A. grafting B. adventitiousbud C. sucker

D. aerid layering.

Coconut and oil palm fruits can be grouped as
A. berry B. legumeC. Capsule D. drupe.

The substance that isresponsiblefor apical dominance
in plantsisknown as
A.gibberellin B.tannin C.auxinD.kinin.

The part of thebrain that regulates most biological
cyclesin humansis

A. dlfactory lobe B. optic lobe C. medulla oblongata
D. pineal body.

Theahility of the eyeto focuson both near and distant
objectsistermed

A.imageformation B.refraction C. hypermetropia
D. accommodation.

Thespead of wind can bemeasured with an ingrument called
A. hydrometer B. secchi disc C. anemometer
D. wind vane,

Lo

h_‘-""'x\. cevils
2N

Rice —L 0

irasshopper /
J-'___‘———-l‘l:l._\ g mantis

N

Which organism in the food-web illustrated aboveis
an omnivore?
A.Weevils. B. Rat. C. Hawk. D. Prayingmantis.

Toadsand lizardsin an ecosystem depend on alimited
quantity of food. Thisisan example of

A. parasitism B. intraspecific competition C. predation
D. interspecific competition.

Adaptivefeatures of plantsto desert,conditionsinclude
A. thick barks, succulent stems and sunken stomata
B. thin barks, succilent stems and sunken stomata
C. thin barks, air floats.on'stems and sunken stomata
D. ar spacesin tissues, agventitious roatsand thick barks

TheSouthern (ﬁf‘neaSavannadiffersfrom theNorthern

Guinea Savannain.that it has

A. lower rainfall,and shorter grasses B. lessgrasses
and editrees C. morerainfall and taller
grasses,, D less arboreal and burrowing animals.

41
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After aheavy rainfall and the formation of alargepond,

the most likely sequence of changes in the vegetation

of the pond is

A. Euglena- water lily—Spirogyre-grass B. water lily
— Spirogyragrass—Euglena  C. Spirogyra—
Euglena— grass—water [y D. Euglena—
Spirogyra—water lily=grass.

In asoil sample, thereative amounts of the different
soil particles cantbest be determined by the process of
A filtration B centrifugation C. precipitation

D. sedimentation:

Which isthe most important pollutant of the marine

environment in Nigeria?

A. Insecticides ™ B. Sewage C. Qil D.Inorganic
fertilizers.

One of the'most effective ways of controlling guinea

WOr mgs by

A.treating thediseaseB. public enlighten men
campaigns.  C. accelerating rural development

D. provision of portable drinking water.

BPuring binary fission in lower organisms, thenucleus
is known to undergo
A. mitossB. melosisC. fragmentation D. mutation.

Onereason for the success of Mendd’swork isthat he

A. wasthefirst to carry out research work on modern
genetics B. introduced quantitativeand qualitative
elementsinto hiswork C. selected two characteristics
only at atimefor study D. drew up his laws of
inheritance based on his knowledge of chromosomes.

The homozygo condition Hb* Hb* resultsin sickle cell
anaemiawhereas Hb* Hb*hasthesicklingtrait. What is
the probability that acouplewith thesickling trait will
givebirthtoonenormal child?
A.%2 B.Y. C.18 D.O

Which of thefollowing charactersisNOT sex-linked?
A. Albinism B.Baldness. C.Haemophilia
C. Colour blindness.

Water lossisregulated in plantsand animals by both the

A. scalesandtheskin B. scalesand the hair

C. thick leavesand the feathers D. leathery curticle
and the feathers.

What combination of charactersshould aprey develop

to survivein the environment of its predator?

A. Camouflage, well developled limbsand effective
vision. B. Showy colour, big body and well
developed limbs. C. Camouflage, big body and
effectivevision. D. Show colour, well developed
musclesand an acute  senseof smell.

The threeclassesin atermitariumare

A. soldiers, queen and workers  B. workers, soldiers
andreproductives  C. soldiers, workersand
kings D. kings, queen and soldiers.
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explanation for the theory of evolution because

A. the deposits have remains of organisms
characteristic of when they wereformed B. different
strata have remains of organismsof the samekind of
only organismswith strong parts are fossilized

D. mogt animal and plant fossilsbear littleresemblance
to present day living specimens.

UL Y UV U DU

The nucleusis considered the control organelleof a

cell because it

A. containsthegenetic material B. containsthenuclear
sap C. isbounded by the nuclear membrane

D. islocated at the centre of thecell.

The procaryotic cell type ischaracterized by a

A. complex cytoplasm in which different regionsare
poorly defined . B. locali zation of differ regions of
the cell intotissues. C. collection of organelles and
macromolecular complexes D. simplecytoplasm
with well-defined regions.

The natural tendency of organism asthey evolveisto
A. decreaseinsizeB. increasein number C. develop
specialized structures D. feed indiscriminately.

In snails, the hard cal careous shellsare secreted by the
A.radula B.ctendium C.pneumostome D.mantle

Usethediagram below toanswer questions5and6:

The gtructurelabelled | isformedias aresult of the
fusion of

A. twopairsof nuclei  B. several pairsof nucleis
C. apair of nuclei D. two pairs of nucleoli.

The special name of the part labelledThis
A. gemetangium B. hypha C. suspensor

D. zygospore

The ability of the cockroachto livein cracks and
crevices is enh by‘the possession of

A. wingsand segmentedbody B. compound eyes
C. clawson thelegs=D.dorso-ventrdlyflattened body.

The case of teﬁt&that lacks pigmentation isthe
A.king B.Wworker »C. solder D. queen.

10.
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A. useand disuse B. origin of species C. origin of life
D. natural selection.

L R N N A

Biology 1998

The structures that prevent food particlesfrom
escaping through thefish gillsare called gill
A. archesB. filamentsC. rakersD. lamellae.

A digtinguighing feature of mammalsisthe possession of
Avskin B.scale C.nal  D.hair.

Whichsof the following structuresis capabl e of
producing more tissues in the stem of a herbaceous
flowing plant?

A EpidermisB. PericycleC. Xylem D. Cambium.

The manufacture of carbohydrates by plants takes

placeonlyin

A. theleaves B. thegreen stemsC. chlorophylous
partsD. flowering plants.

Inawater culture experiment, aplant showed poor
growth and yellowing of theleaves. These may be due
to deficiency of
A.copper B.iron C. magnesum D. calcium.
In million’stest, when thereagent isadded to aprotein
fooditem, awhite precipitateisproduced which turns
A blueonheating B. yelowon heating

C. greenon heating D. red on heating.

Regulation of blood sugar level takesplacein the
A.pancreas B. ileum  C.liver. D.kidney.

Unicellular organismstransport essential nutrients

directly to all parts of their bodies by the process of

diffusion because, they have

A. alargevolumeto surfacearearatio B. alarges
urfaceareato volumeratio C. their bodies immersed
inthenutrients D. their outer membrane made of
cellulose.

The heat of the adult frog consists of

A. two auriclesand twoventricles B. oneauricle and
oneventiricle B. one auricleand oneventricle

C. twoventriclesand oneauricles D. oneventricle
and two auricles.
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Inadult mammaian blood, theodIswhich ladk nudeusarethe

A Thediaphragm and intercostals musclesrel ax

B. Thethoracic cavity increasesin volume

C. Thediaphragm and intercostal s muscles contract

D. The diaphragm contracts and the intercostals
musclesto relax.

Whi ch of thefollowing movement occur during

exhalation?

A. thedigphragm contractsand theintercostal smusdesrdax.

In which of thefollowing groups of animalsisthe

Mal pighian tubule found?

A. Lizards, snakesandfrogs B. Crickets, houseflies
and grasshoppers C. Millipedes, centipedes and
scorpions D. Earthworms, roundworms and
flatworms.

Which of the following is not a function of the
mammalian skeleton?

A. Protection B. Respiration C. Transportation
D. Support.

Usethediagram below toanswer question 23 and 22.

The ovary represented is
A. haf-superior B.inferior C.superior D. haf-inferior.

The corollaispartly represented by
Al B.1I C.lll D.IV.

The most reliabl e estimate of growthiis by measuring
changesin

A.length B.volume C.surfacearga)D. dry Weight.
A dryfruit formed from two or morecarpel scontaining

several seedsisa
A. follicle B.legume C. capsule®B#schizocarp.

Theoutermogt embryonic membraneinthemammad isthe
A.amnion B. chorion C. allantois. D. yolk sac.

The small masses of nervoustissuesin which many
neuronshavether nuclei arecalled
A. dorsal roots B. ventral roots C. ganglia

D. synapses.

A group of organisms of different specieslivingin a
particul ar aredlissdescribed asa
A.colony B.community C.population D. niche.

Which ofitlie follewing is the direct consequence of
transferring'energy from onetrophic level to another?

3L

A. Anincreaseinbiomass B. A decreasein the
efficiency of energy conversien C. Anincreasein
the numbers of resulting individuals

D. A decreasein theresultingabiomass.

The condition that encouragesdenitrification is
A. low soil oxygenB. highisoil nitrogen C. absence of
soil bacteriaD. lightningiand thunderstorm.

A freshwater plant such aswater lily can solvethe
problem of lbuoyancy by the possession of
A. aerenchymarous tissues B. dissected |eaves
C.. thin cell walls of the epidermis
D. water-repelling epidermis.

The sequence of the biomesin Nigeriafrom Port

Harceurt to Damaturuis

A.estuarine! rainforest’! Guinea savannah’! Sahel
savannah B. rain forest ’! Guineasavannah ’!
estuarine’! desert C. estuarine’! Guineasavannah
‘Frainforest’! Sahd savannah D.rain forest’!
estuarine’! Guineasavannah’! desert.

Soil micro-organisms are beneficial because of their

iAol vementin

A. photosynthesis B.trandocation C. cycling of
nutrients D. respiration using soil air.

Which of the following groups of diseases are
associated with water?| Onchocerciasis||
Schistosomiasislll. Dracunculiasis|V. ElephantiasisV.
Taeniasis.
A.lLITand I
D. I, lland V.
Oneof thewaysin which body cellsdiffer from gamete
celsisinthe
A. type of centromeres they contain B. number of
chromosome pairsthey contain C. type of
chromatidsthey contain D. number of
chromaosomes they contain.

B.l1l,IVandV C.II,1ITand 1V

In blood transfusion, aggl utination occurswhen

A. whiteblood cell sfrom two individual s meet

B. twodifferent antibodiesmeet C. two different
antigensmeet D. contrasting antigens and
antibodies meet.

Usethediagram below toanswer question 37 and 38.

Mineral T
production f"’ﬁl

[ | S350
[ =

Thealternate depl etion patterns of mineral resources over time.

37.

The unrestricted pattern is presented by
Al B.1I C.lll  D.IV.
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Thelinethat represents efficient recycling combined
with stringent conservation is
A.lv Bl Cll D.l.

After oneweek of life, the weights of five chicks of the
same sex hatched simultaneously from the eggsthe
same hen and fed on the samediet were 45g, 40g 359,
33, and 30g. Thisisan exampleof

A.growthrate B. natural selection C. variation

D. mutation.

The phenotype of an individual can be summed up as
the

A. totality of theexpressedtraits B. individual’'s
physical appearance C.individual’sentiregenetical
make-up D. physiological traitsof theindividual.

The correct increasing order of sizefor thecell
compoents responsible for heredity is

A. chromosome -3 DNA 3 nucleus= gene
B. DNA —=Gene-3chromosome-3nucleus
D. Chromosome= nucleus=3 DNA - gene
D. DNA =gene 3nucleus =chromosome.

A sex-linked character cannot be passed on directly
from

A. father to son B. mother to daughter C. mother to
son D. father to daughter.

The biological association that contributes directly to
succession in acommunity is

A. competition B. predation C. parasitism

D. commensalism.

The group of insects that have mouth parts adapted
for both piercing and sucking is

A. cockroaches, aphids and mosquitoes B. aphids,
houseflies and moths C. mosquitoes, tsetse flies and
aphids D. aphids, beetles and grasshoppers.

[Ny
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Usethediagram belowtoanswer questions45 and 46.

Thebird’ s bill adapted for/fishing islabeled
Al B.1I Clll D.IV.

Toesof thefeet ending in asharp, curved hook suitable
for holding and tearing are most likely to belong tothe
bird with thehill in

Al B.1l C.lll D.IV.

In the honey bee colony, the drones are

A sterilemal eswith reduced mouth parts B. sterile
aleswith well-developed mouth parts C. fertile
maleswith'reduced mouth partsD. fertilemales
withwell-devel oped mouth parts.

Inthewhistling pineleavesarereduced to brown scale

and young stems aregreen. Thisis an adaptation for

A. obtaining food B. conserving nutrientsC. storing
water D. reducing transpiration.

Thebes explanation for thetheories of natural sdection

isthat

A all organisms have equal capacity for survival in
their habitats B. organismshavevarying capacities
for survival in their habitats C. organismscompete
or resources and better competitors survive and
thrive D. habitatsallow only organismsthat will
not have to complete for survival.

The basic point of impact by changes which produce
mutation isthe
A. gametes B. chromosomes C. phenotype D. zygote.

Biology 1999

The habitat of the cysticercus of Taeniasolium is
A. alimentary canal of cattle B. muscles of pig
C. aimentary canal of pig , D. musclesof cattle

The organism that has a hydrostatic'skel eton is
A. Tilapia B. Hydra C. Mosguitolarva
D. Earthworm

These possession of ‘scalesplaying of eggswith shells
and bony structurw‘ thehead are characteristics s
hared by

A. birdsand reptilesy.B. fishesand birds

C. reptilesakdfishes D. birdsand molluscs

The groupf:Arthrepods that has no antennae is the
A. crustaccayB. chilopoda C. arachnida
D. dinlepoeda

Thestructurethat ismaost commonly identified in all
living cells under thelight microscopeisthe

A. mitochondrion B. chloroplast

C. nucleus D. ribosome

Which of thefollowing isan organ?
A. guardcdl B. liver C. xylembundle D. blood

Usethediagram below toanswer questions7and 8
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14,

16.

17.

The structurelabelled 11 isused for
A. tasting B. feeling C. hiting D. sucking

The structure labelled 111 representsthe
A. mandible B. palp C. proboscis D. labium

The division of a body into two equal halvesalong al
ongitudinal planeiscalled

A. bilateral symmetry B. transverse section

C. radial symmetry D. longitudinal section

Inwhich of thefdlowing organismsdoeseach cdll
combinethefunction of nutrition, reproduction andgrowth?
A. Rhizopus B. Dryopteris C. Brachymenium

D. Spirogyra

Thekey event in thetransition of theamphibiansfrom

water tolandisthe

A. replacement of thegillswith lungs B. possesson
of webbedlimbs C. development of long hind

C. limbs. D. possession of tympanic
membrane

In plant cells, the chloroplasts are located
A. insidethecel wall B. outsidetheprotoplasm
C. withinthevacuole D. withinthecytoplasm

In woody sems, gassous exchange take place through the
A. micropyles B. stomata C. lentices
D. vessds

Substances manufactured by theleaves aretransported
to other parts of the plant through the
A. xylem B. companioncells C.
D. cambium

sievetubes

After ameal of yam has been digested the highest
concentration of glucose is to be found in the

A. hepaticartery B. pulmonaryvein

C. hepaticportal vein  D. posterior venacava

The dark reaction of photosynthesis;invol v

A. fixation of carbon (IV) oxidetogive as X-carbon sugar
B. fixationof carbon (1) oxidewithithe hel p of oxygen
. usedf carbon (1) oxideto produce glucoseusng ATP
uhfixation of carbon (1) oxideon chl orephytiusing hydrogen

Mammal's acclimatize to reduced exygen content at
high altitudes by

A. thestimulation of marrowite reducethe amount of
erythrocytesproduced B. increasing the rate at
which erythrocytes are destroyed

C. the stimulation ofimarrew to produce more
erythrocytes 4B.._increasing the breakdown of the
protein portiomef the erythrocytes

a

The modes of nutrition in Nitrobacteri Ascarisand

Homo sapiens respectively are

A. phot thetic B. chemosynthetic, parasitic and
holozoicy, C. photosynthetic, parasitic and
heterophytic D. chemosynthetic, holophytic
and holezoic

24,

Therichest sourcesof vitamin A are
A. pamoil and groundnut®il“B., palm oil and carrots
C. riceand groundnut oil, D. orangesand carrots

Theforcethat holds water.together in theform of a

stream within the xylem tubeisthe

A. cohesion of water melecules to one another by
hydrogen bonds B. /force of gravity attracting
the water moleculesthrough the hydrogen bonds

C. aitraction betweéen thewater andxylem by osmaticforoe

D. normal flaw of water from the ground with thehelp
of gravitationalforce.

Yellowing of leavesis asymptom associated with

deficiency of

A. iron, calciumand magnesium B. nitrogen, sulphur
and potassium C. sulphur, phosphorus and iron

D. Zmagnesium, nitrogen andiron

Thelymphatic system of mammalsrejoinsthe blood
circulatory system at the

A. hepaticvein B. subclavianvein C. renal vein
D. commoniliacven

Indissection, therib cage of amammal hasto be opened
in order to expose the
A. diaphragm B. liver C. heated D. sternum

Fertilization in humansusually takesplacein the

A. lower part of theuterus B. upper part of the uterus

C. lower part of theoviduct D. upper part of the
oviduct

Insects visit flowersin order to
A. feed onthenectar B. deposit pollen onthestigma
C. pollinatetheflowers D. trander polenfromanthers

In epigeal germination, the cotyledonsare

A. carried above the ground by the dongating hypocatyls
B. pulled underground by the éongating hypocatyls

C. pulled underground by the € ongating epi cotyl

D. carried abovethe ground by the d ongating epicotyl

Bacteriamultiply rapidly by means of
A. budding B. fragmentation C. binary fission
D. sporeformation

Theoorrect squencefor thegperation of amdl in mammasis

A. chemicdsaudfactory nerveendingsa brain

B. dissdlved chemicasa nasd sensory cdl &brain

C. chemicdsamucusmembrane&a ssnsorycdlsa brain

D. disdved chemicds & sensory cells &dfactory nerve
a brain

Usethediagram below toanswer questions29 and 30
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Thepartlabeled I11 isfor
A. protection B. insulation C. lubrication
D. growth

Thestructurelabeled I isknown as
A. sweat gland B. lymph vessel C. blood vessel
D. nerveending

In mammals, the organ which performs digestive and
endocrine functions is the
A. liver B. pancreas C. gastricgland D. sivarygland

The chitin in the exoskeleton of many arthropod is
strengthened by

A. calcium compounds B. organic salts

C. lipids D. proteins

Usethediagram below toanswer questions33and 34

Thestructurelabelled Il articulateswith 111 toforma
A. didingjoint B. hingejoint C. pivotjoint
D. ball-and-socket joint

Which of the bonesis the radius?
A.1 B. Il C.IIl D.IV

The construction of damsmay lead to an increasein
the prevalence of

A. typhoid fever, meades and yellow fever

B. tuberculosis, leprosy and typanosomiasis

C. guineaworm, malariaand tuberculosis

D. malaria, bilharziasisand onchocerciasis

H oating microsoopic heteratrophs are mostly grou
A. phytoplankton B. zooplankton G, micrabes
D. nekton

Vaccination iscarried out in orderto

A. check the production of poison

B. increasetheactivity of white bloodicells
C. increase thenumber of red blood cell

D. dtimulatethe productiomef antibodies

A soil congsting of aluminaand iron (I1) oxideisknown as
A. loamysoil B. clayeysoil C. laterite D. podzol.

Thesign +is used tojindicate an association where an
organism gains, while@.isused wherean organismis
unaffected. An ass@@iation indicated as+ O isknown as
A. predation B, commensalism C. parasitism

D. competition

a

41

47.

Usethediagram below toanswer questions40 and 41

5 -4——-1 & I

Praving Lizard \' e Predatory
s K s f' j
— )

el '1'
) i
Selusily Cirasslic el

|" e

Primary consumersarefoundin
A.12and3 B. 13and7 C. 23and7 D. 24and5

The biomassislikely to increase in the sequence
A. 1&2&4a5, B. 1&3a4as5 C. 3aba6ar
D. bad4a3al

Whichsof thefoll owing characterized the white
mangrove?

A. prop roots B. buttressroots C. breathing roots
D /stiltroots

If the offspring of a cross between brown mouse (bb)
and ablack mouse (BB) areallowed tointerbreed, how
many different genotypes would result?

A.2 B.3 C.4 D.5

The biol ogical factor that isunique to each individual
isthe
A.DNA B.eyecolour C.bloodgroup E. RNA

From an evol utionary standpoint, the older afossil-
bearing rock isthemorelikeyitisto contain

A. aves as opposed to amphibians

B. invertebrates as opposed vertebrates

C. angiosperms as opposed to algae

D. vertebrates as opposed to invertebrates.

The very bright coloursin some types of mushroom
A. areawarning that they may be poisonous

B. indicate that they are very tasty

C. attract potential transportersof their spores

D. performthesamefunction asbright coloursin flowers

Theleast adaptivefeaturefor arboreal lifeisthat

A. possession of four limbs B. possession of claws

C. development of alongtail D. counter shading of
coat colour

Whi ch of thefollowing isoneof Lamarck’stheories?

A. somevariationsare more favorableto existencein a
given environment than others

B. al living organisnsarecongantlyinvdvedinagruggle
for exigence C.thesizeof agiven population remains
fairly constant

D. new speciesoriginatethrough theinheritance of acquired
traits

Theloud cry made by abrooding hen when apredator
isaround is meant to
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A. aert the poultry attendants 50.
B. attract cocksto come and fight the predator

C. advertisethe boundaries of itsterritory tointruders

D. warnitschicksand ather chickensof impendingdanger

Themost important environmental factor which
epiphytesin therain forest’compete for is
A. water B. nutrient C._light D."space

Biology 2000

Usethediagram below toanswer questions1and 2 9

1 Thepart that will devdlopintoan organfor feding islabd led
A.lv B.Illl C Il D.I

2 Thepart labelled 11 isthe
A. silkthread B. thorax C. forewing D. anchor

3 Which of thefollowing featuresare all associated with
monocots?

A. Fibrousroot sysem, branched network of veinsandone

sead leaf B. Hbrousroot sysem, two seed leavesand f 10.

loral partsinthrees C. Oneseed ledf, petd sinthreesor
groupsaf threesand parald venation of |eaves
D. Oneseedlesf, net-veined leaves and petalsinthree or

multiplesof three n
4 The set of finsthat controls steering; balancing and
change of direction and pitchin fish i\ 12
A. dorsal andana B. pectoral and pelvic

C. caudal anddorsal D. anal and pelvie

5 The most recently evolved structurein‘animalsisthe 13

A. hair B. cilium C. scale D. feather

6. Coelomisabsent in the class of animal stermed
A. mollusca B. reptilia C. arthropoda D. coelenterata

7. A characterigtic of vertebratesthat.isuniqueto mammalsis
A. the presence of pentadactyl limbs
B. parental care C. the possession of scrotum
D. pulmonary circiletion

8 The order in which,organic evol ution has progressedin
plantsis a
A. thallophyta, schizophyta, bryophyta, pteridophyta
and spermatophyta B. schizophyta, thall ophyta,
bryophyta, pteridophyta and spermatophyta

C. pterid®phyata,'spermatophyta, thallophyta, 14,

schizophyta.and bryophyta D. bryophyta,
pteridephyta, spermatophyta, thallophyta and
schizophyta.

In which part of the human body does the secretion of
the growth hormone occur?

A. headregion“B. waistregion C. neck region

D. gonads

Usethediagram below toanswer questions10and 11

Thepartslabelled | and 11 make up the
A. glomerulus B. convoluted tubules
C. malpighian body D. bowman’scapsule

In mammals, re-absorption of salt takes placein
A. IV B.1Ill C. Il D. 1

The part of the brain that controls body posturein
mammalsisthe
A. thalamus B. cerebrum C. spinal cord D. cerebrum

Peripheral arrangement of vascular tissuesin dicotsis
acharacteristic of theinternal structureof the
A. leaf B. petiole C. steam D. root

Usethediagram below toanswer questions14and 15

The substance labelled 11 originatesfrom
A. lllonly B. IVonly C. landlV D. lll andIV
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17.

24,

The gas occupying the space labelled | is
A. carbon (IV) oxide B. nitrogen
C. hydrogen  D.oxygen

The scapula and theischium are part of the
A. pectoral girdle B. pelvicgirdle
C. appendicular skeleton D. hindlimb

Bactteriain thelargeintesineof manareimportant inthe

A. synthesisof vitaminsK and B,

B. digestion of vegetables. C. synthesisof vitamins
AandD D. absorption of water.

Short-d ghtedness can be corrected by lenseswhich are
A. convex B. biconvex C. plano-convex
D. conoave

Theinner ear containstwo main organs, namely, the
A. eardrum and eustachinan tube B. cochleaand

semi-circular canals C. oval window and ossicles
D. pinnaand cochlea

For growth to occur in organisms, the rate of
A. food storages must be low
B. catabolism must exceed that of anabolism
C. anabolism must exceed that of catabolism
D. food storage must be high

Theproduction of violet col ouration, when dilute NaOH
solution is added to a solution of food substance,
followed by drops of 1 % CUSO, solution whilemaking
indicates the presence of

A. protein B. carbohydrates C. fats

D. reducing sugar

The greatest amount of energy will be obtained by'the
oxidation of 100kg of
A. meat B. butter C. sugar D. biscuits

The chamber of the mammalian heart withyithe thickest
wall isthe

A. right ventricle B. leftauricle C. rightauricle

D. left ventricle

Usethegraph below to answer questions 25and 26.

Serum differs from blood plasma becauseit.
A. contains blood cell and fibrinogen

B. contains soluble food and mineral salts
C. lackstheblood proteinfibrinogen

D. lackshlood cellsand albumin

Thepart labelled 11 isthe
A. mesocarp B. pericarp C. @endocarp
D. epicarp

Thefruit represented is mainly dispersed by
A. animals B. water C. wind D:birds

In an experiment to estimate thevolume of air in asoil
sampleusing ameasuring eylinder, it was found that:
Initial volume of watéf = p cm*Volume of soil before
mixing with water= g cm S Final volume of water after
adding soil=r cm®. Frem the data above, which of the
following deductions is correct?

A.r=ptq B.r>p+q C.g=r-p D.r<p+q

An ecological succession often leads to

A. anjinereasein speciesdiversity B. adecreasein
speciesdiversity C. an unstable community

D. thedispersal of species

Atmospheric nitrogen is converted to soil nitrogen for
plant useby

A nitrification and combugtion B. putrefaction andlighting
C. lightingandnitrification D. combustion and putrefaction

| High birth rateand high immigration ratell Low birth
rateand high immigration rate 1l Low mortality rate
and low emigration ratelV High mortality rateand high
emigration rate.

Which combination of the above can causerapid
overcrowding in climaxbiotic communitiesand human
settlements?

A. llandlll B. landlll C.landlV D. landll

Usethegraph below to answer questions 31 and 32.

Plam

groswih

Soil essential elemnt

concentration

Thesall becomestaxicto plantswhen the
concentration of itsessential dementsisin therangelabdled

A. IV B. Il C. 11 D. |

Therangeat which soil essential dement concentration
isrecorded for optimal plant growth ismarked
A. IV B. IlIl C. Il D.I

Which of thefollowing growth activitiesin plantsis
brought about by gibberellins?

A. Rapidcdl divison B. Tropicresponse

C. Cél dongation D. Main stem elongation

Whi ch of thefollowing are adaptati ons of animalsto
aguatic habitats?

A. Gillsstreamlined bodiesand lateral line

B. Lateral line, streamlined bodies and lungs
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C. Gills, scaly skin and lungs
D. Gills, streamlined bodies and spiracles

Which of thefallowing isan adaptation of forest pecies?
A. Few ssomata B. Thick bark C. Buttressroots
D. Reduced leaves

In afood chain, each succeeding level in aforward
direction, represent?

A. anincreaseinthe number of individuals

B. adecreasein the number of individuals

C. anincreasein the biomassof individuals

D. againin thetotal energy being transferred.

The disaster that would have the least destructive
impact on animal lifeand balancein natureis

A. chemical pollution B. forestfires

C. ail spillage D. grasshopper pests

Thelegs and beak of an egret resemble those of the
heron because they

A. both feed on fishes B. are both birds

C. occupy similar niche D. occupythesametrophicleve

Thefactorsthat determinethe distribution of vegetable

zonesare

A. temperature, light, rain and humidity

B. light, humidity, air and mist C. temperature, light,
air and humidity D. humidity, snow, frost and dew

A cross between an albino female and agenetically
normal malewill result in offspring that are

A. all albino B. all phenotypically normal

C. dl genetically normally D. hdf abinoand hdfnermd

The pollutants that contribute to the depletign of the
ozonelayer intheatmosphereare

A. radioactivematerials B. oxidesof sulphur

C. oxidesof carbon D. chlorofluorocarbons

The surest way to combine the best qw both
parents and the offspring is by

A. cross-breeding B. inbreeding C. sdectivebreeding
D. purebreeding

47.

Blood grouping in human beingsis derived from
combination of

A. twodifferent alleles B.\four different alleles
C. threedifferent alleles D. twe different genes.

Theolder fossil-bearing rocksyin contrasto the more

recent ones, aremorelikely.to contain

A. animalsrather than plant remains B. invertebrates
rather than birds ‘Caflowering plantsrather than
mosses Dgireptilesrather that fishes

In agroup of maleAgamalizards, the onebrightest
head colour isthe
A. dominant B.youngest C. oldest D.largest

Exampl es of water-borne and sex-linked disease are
A, taeniasisan malaria B. choleraand gonorrhoea
C. typhoid and syphilis D. dracunculiadsandhaemophilia

The mutation theory of organic evolution was
propounded by

A. Gregor Menddl B. HugoVries

C. Jean Lamarck D. CharlesDarwin

AgCertain savanna grasshopper changes colour from
green during therainy season to brown during the dry
season bush fires. Thereason for these colour changes
isthat the

A. grasshopper isgetting ol der

B. environment temperatureischanging

C. grasshopper isavoiding predation

D. grasshopper isfrequently moulting

Complex social behaviou and organization arefound
mostly in
A. insects B. birds C. reptiles D. mammals

Which of thefollowing structural features are adapted
for uses other than water conservation?

A. Succulent stems B. Scalesin aannals

C. Spinesinplants D. Feathersinbirds

Biology 2001

An association between the root nodule of a
leguminous plants and rhizobium spis known as
A. commensalism Bamycorrhiza C. parasitism
D. symbiosis

Amphibiansar%hormallyfound
A. ondrylandandihwater B. inwater andonmoistiand
C. onmoistland D. inwater
a
Viviparity occurs mainly inthe
A. mammals B: reptiles C. aves D. amphibians

Thejointed structure in insectsthat bears organswhich
are sensitive to touch, smell and vibration isthe
A. maxilla B. labium C. antenna D. abdomen

Which of the following groups is the most advanced?
A. Pteridophytes B. Bryophytes
C. Thalophytes D. Gymnosperms

Most monocots are easily recogni zed by their

A. short leaves with petioles B. long and sword-like
leaves C. long and palm-likeleaves

N <chort leaves with manv veinl ef<
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16.

17.

Water fleas, wood lice and barnacles belong to the group
A. arachnida B. crustacea C. insecta D. chilopoda

The mode of feeding in Amoeba and Hydrais
A. heterotrophic B. holophytic C. autotrophic
D. symbiotic

Which of thefollowing organisms does not exist asa
singlefreeliving cdl?

A. Paramecium B. Volvox C. Amoeba

D. Chlamydomonas

Usethediagram below toanswer questions10and 11

Thestructureslabelled 11 and I11 respectively are

A. femaleorgansandrhizoid B. maleorgansand
rhizoid C. sporophyteand sori D. annulusand
stalk of sporangium

In ferns, the structure above is equivalent to the

A. zygoteof amoss B. gametophytegeneration of amoss
C. sporophyte generation of a moss

D. sporophyte of a moss

Thecentrefor learningandmemoryinthehumanbrainisthe
A. medullaoblongata B. cerebellum
C. cerebrum D. olfactorylobe

Ureaformation occursin the
A. heart B. liver C. lung D. kidney

Usethediagr am below to answer queﬂionslmls

Thestructurethat holdsthe yolKiyposition islabelled
A.ll B.1 C. IV D. Il

Thepart [abelled |V isthe
A. albumen B. germinal disc C. sturdy D. stunted

The gas produced/@uring tissue respiration can be
identified by using

A. calcium hydroxide™B. copper sulphate

C. calcium cagonate,D. sodium hydroxide

A seedling growmin thedark islikely to be
A. etiolated Biydormant C. sturdy D. stunted

24,

The enzymeinvertase will hydrolyze sucroseto give
A. maltose and glucose B. glyecerel,and fatty acid
C. glucose and fructose D. mannose and gal actose

When yeast respiresanaerobieal ly, it convertssimple
sugar to carbon (1V) oxide and
A. oxygen B. acid C.alcchal,D. water

Thetransportation of oxygemand carbon (IV) oxidein
mammalsiscarriedout by

A. leucocytes B. thrombocytes C. phagocytes
D. erythrocytes

Theveins of the leaf areformed by the
A. vascular bundles B. cambium cells
C. palisadetissue D. spongy mesophyll

Usethediagram,below toanswer questions22 and 23

1
11

1V

Wi

The parts which function together to bring about
hearing arelabd | ed.

A. IV,VandVI B. |, II,IVandVI C. I, I, lll and IV
D. I, llandIV

Thepart labelled 11 is the
A. fenestraovalis B. middleear canal
C. internal auditory meatus D. ear ossicles

When specimen X ismixed with few dropsof iodine
solution, the appearance of ablue-black colour confirms
that X is

A. Galactose B. Starch C. Sucrose D. Glucose

Usethediagram below toanswer question 25 and 26

S—

11

L

The structure above represents a
A. caudal vertebra B. lumbar vertebra
C. thoracicvertebra D. cervical vertebra

Blood vessls usualy pass through the sructure labdled
A.lll B.II C.V D.IV

Salts and water are absorbed in theroots and
transported to the leaves by
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A. diffusion through the xylem tissues B. osmosis
through thephloem tissues C. diffusion through
the phloemtissues D. osmosisthrough thexylem
tissues

Thenumber of plant species obtained from apopul ation
study of agarden isasfollows: Guinea grass(15),
Ipomoeas SSP, (5), sidaspp (7) and Imperataspp (23)
What isthe percentageof occurrence of Imperat, q op?

A. 35% B. 16% C. 46% D. 23%

Carbon (1V) oxide content of theatmosphereisleast
affected by

A. cutting down and clearing of forest B. forest fires
C. burning of fossil fuels D. plant andanima respiration

The factor that least affects food shortages in sub-
SaharanAfricais
A. flooding B. pests C. mixed-cropping D. drought

The epiphytic habitat can best be described as
A. arboreal B. estuarine C. aguatic D. terrestrial

The highest percentage of energy in an ecosystem
occurs at the level of the

A. secondary consumers B. decomposers

C. producers D. primary consumers

The greatest influence on a stable ecosystem in nature
isexerted by
A. man B. pollution C. animals D. rainfall

A freshwater pond may contain

A. tadpole, water boatman, leeches and crab

B. water beetle, shrimps, water snail and water bug
C. water lily, fish, water scorpion and dragontly larva
D. pond skater, water lily, shark and mosguitolarva

The hygrometer is used for measurin
A. relative humidity B. specificgra\?im
C. rainfall D. salinity

Thedistribution of plantsin arain forest,in governed
mainly by

A. vegetation B. soil types C. amount of sunlight
D. rainfdl pattern

Both recessiveand deminant charactersare found
A. on different chromosomesin the cell

B. at the samelocus of a homelegous chromosome
C. mother'ssex cell D. mother’s X chromosome

The probability of ababy béing aboy or agirl depends
on the condition{cfithe

A. father’ssex cell"B. father’s somatic chromosome
C. mother's =D. 'mother’s X chromosome

Which of thefellowing statements is true of blood
groups anelgblooditransfusion?

A. Group Olstheuniversal recipient

B. GroupAseandonatetogroup A only

C. GroupAB istheuniversal recipient

™ MeRins N Ann AAanmatAadba Aavacoa D Akl
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Which of thefollowing islikely to encourageinbreeding

in plants

47.

A. Dioecious B. Protandrous C. Manoecious
D. Hermaphrodite

A tall plant crossed with.adwarf on produces offspring
of which half aretall and half are dwarf

what are the genotypes of the parents?

A.TT,TT B. Tt, Tt C"TT,tt D. Tt, Tt

In man, theability torall thetongueisavariation
classified as

A. anatomical B. physiological C. structural
D. morphological

Darwin isconsidered thefirst scientist who correctly
explained the theory of

A. “special creation B. spontaneous generation
Cyuseand disuse D. organic evolution

The stem of atypical aquatic plant usually has many
A. alfcavities B. intercelular spaces
C. avater cavities D. water-conducting cells.

Therole of the male adult honey beeisto
A. cleanthehive B. ventilatethehive
C. matewith thequeen D. carefor theyoung

The ability of an organism to live successfully in an
environment isknown as

A. resistance B. competition C. succession

D. adaptation

The most important adaptation of xerophytesisthe
ability of the protoplasm to

A. resist being damaged by loss of water

B. storesugar and mineralsin the vacuoles

C. absorbwater and swell

D. shrink fromthecd | wall

A green snakein green grassis able to escape notice
from predators because of its

A. disruptivecolouration B. countershiping

C. warning colouration D. cryptic colouration

For heterotrophic organisms, competition isleas caused
by the inadequacy of
A. mates B. space C. light D. nutrients
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An Amoebaand an unlaid chicken eggs are
A. animal tissues B. organelles C. singlecell
D. organisms

In cornsfood isusually stored in the
A. leaves B. stems C. roots D. buds

Theanimalsthat move by meansof flagellainclude

A. Chlamydomonasand Euglena B. Planariaand
Amoeba C. Amoebaand Hydra D. Paramecium a
nd Planaria

The structuresfound only in plant cells are

A. cell membraneand cytoplasm B. chromatin and
nucleolus C. cell wall and chloroplast

D. cell membraneand lysosome

A flower that has both stamensand pistil issaidto be
A. staminate B. pidtillate C. perfect D. imperfect

When all ispoured into the bresding Ste of mosquitoes it
A. deprivesthelarvae of water B. killstheadults
C. suffocatesthe pupae D. dowsdown egg

devel opment.

Usethediagram below toanswer questions7and 8

| | 1
\
|
|

m LAY

The correct evolutionary sequence of the'organisms
represented is

A. 1&lllallalv B. llalllaval C. llfaavayv
D. Ivalialal

Ovoviparity isthetype of fertilization exhibited by the
organism labelled
A.IB. Il C.lII D. IV

Usethediagram below toanswer questions9and 10

Hawk

Lizard

<

wizgetation

snake

¢

3% LRI TS

Inthediagram, thehawk is
A. an omnivere B. aprimary consumer
C.. atertiarv.consimer N asravenner

14
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Example of competitorsare
A. lizard and mouse B. snakeandlizard
C. grasshopper and mguse D\ rabbit and snake

One of the adaptations to life on trees by amonkey is
its possession of digits which are
A. extensible B. hig C. gpposable D. long

The community of plantsin which the same species
occur from year to year isthe

A. annual species B: pioneer vegetation

C. perennial species D. climax vegetation

Themaost common meansof transmitting Acquired

Immune Deficiency Syndrome (AIDS) is

A. fromanother tochild B. through blood transfusion

C. through/sexual intercourse D. through thesharing
of needles

Plantstend to prevent overcrowding by meansof efficient
A. water uptake B. seed germination
C. pollination D. seed dispersal

The physical and climatic factorsof aregion primarily

determinethe

A. kindsof animalsinhabiting thearea B. types of
plantsfoundin thearea C. natureof thesoil inthe
region D. community of organismsin theregion

A stepin the movement of energy through an
ecosystem is a description that best fits the term

A. foodchain B. trophiclevel C. pyramid of numbers
D. food web

In afield experiment the frequency of waterleaf was
observed to be 48 after 20 tosses of a 2m? quadrant.
What isthe density of the plant in thefield?

A. 12perm? B. 24perm? C. 4.8per m?

D. 9.6per m?

The supporting tissue of xylem is maost poorly
developed in

A. mangrove swamp plants B. grassand plants
C. submerged water plants D. desert plants

The addition of limeto clay soil serveto
A. aid water retention B. closeupthetexture
C. preventwater-logging D. improve capillary action

The excessive use of agro-chemicals could lead to the
pollution of

A. thelithosphere B. theatmosphere

C. freshwater D. space

In a population study usng thetransect method, a
dudent islikdy to record the highest number of pedesin
A. atropical rainforest B. aguineasavanna

C. asahd savanna D. an estuarine swamp
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In histheory of evolution, Darwin implied that

A. the struggled for existenceamong living organisms
issporadic

B. the most successful organisms arethose that best
adapt to their environment

C. organsof thebody which arenot regularly, used by
an organism will disappear

D. nytraitsacquired by an organism during itslifetime
can e passed on to its offspring

Thecarnassid teeth of acarnivorousanima consissof the
A. last upper premolar and thefirst [ower molar

B. last upper molar and thelast |ower molar

C. first upper premolar and thefirst lower molar

D. first upper molar and thefirst lower molar

A feature of the cagte systems of bees and termitesistha
A. theworkersaresterile B. thekingsarebigger than
thequeens C. only theworker perform duties

D. nuptial fight isperformed by all members

The structure that is common in the embryos of
mammals, amphibians, birds, fishesand reptilesand
which isan evidence of their common ancestry isthe
A. eye B.chorion C.allantois B. gillslits

Animalsarerestivewhen the environment in which
they live becomes

A. hotanddry B. coldandwet C. warm and humid
D. windy and snowy

Birdswhich arelargewith long straight pointed beaks,
long necksand long legs are likely to be

A. insect eaters B. fish catchers C nectar feeders
D. fruit eaters

Examplesof organismsin which extracd lular digestion

occurs are

A. Fungus, Loranthus and housefly

B. Rhizopus, spongesand earthwormigC.. Roundworm,
tapeworm and Hydra

D. Rhizopus, housefly and Hydra

Themammalian erythrocytesdiffer fromerythrocytesare

A. discoid and nucleated B. discoid and enucleated

C. amoeboid and nucleated D. amoeboid and
enucleated

The presence of endoskeleton is characteristic of
A. invertebrata B. vertebrata C. insecta
D. coelenterata

The capture and digestion of insects by a pitcher plant
isaspecial form of nutrition termed
A. autotraphic /B heterotrophic C chemosynthetic
D. saprophytic

a

Usethediagram below toanswer questions32 and 33

Live plant

. Conbeal flask
"

Caustic soda

Retort stands

Which of thefollowing statementsiscorrect about the
experiment?

A. Theflask must be of the conical type

B. Caustic sodacan bereplaced with distill ed water
C.. Theenclosed leaf will loseits green colour

D. iThe leaves outside the flask serve as control

Theexperimental set-up can be usad to demongratethat
A.flightis necessary for photosynthesis

B. oxygen is necessary for photosynthesis

C. photosynthesis occursin the leaves of plants

D. lcarbon (V) oxide is necessary for photosynthesis

When a marinefish wastaken from the ocean and put

in atank of fresh water, it died after a short period

because

A. thetank wastoo small compared to the large ocean

B. the body cellsof the fish swelled and burst asa
result of the hypotonic fresh water

C. the body cells of thefish shrank astheir sap was
hypertonic to be fresh water

D. therewasno food in thetank, so the fish starved

Which of thefollowing pairsof organsislocatedin the
anterior half of the mammalian body cavity?
A. Kidneysand lungs B. Heart and ovary
C. Lungsand hearts D. Kidneysand heart

Themode of nutrition exhibited by atapewormis
A. symbiotic B. saprophytic C paraditic D. holozoic

The organ located within the duodental loop in the
mammdl isthe
A. spleen B. pancreas C.liver D. gall bladder

I'n which of thefollowing groups of fruitsisthepericarp
inseparable from the seed coat?
A. Nut B.Fallicle C.Cypsda D. Cryopsis

A person that is obese must avoid meals containing
A. carrotsand oranges B. margarineand butter
C. beef and beans D. rice and yam

Tissuerespiration isimportant for the

A. absorption of oxygen into the alveoli

B. release of carbon (IV) oxideintothelungs
C. release of energy for body use

D. exhalation of carbon (IV) oxidefrom lungs.
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Usethediagram below toanswer question 41 and 42

the

Al B.Il Clll D.IV

Thestructurelabelled | representsthe
A. phloem B. xylem C. cortex D. pericycle

Usethediagram below toanswer questions43and 44

The gland usually found in the position labelled isthe
A. adrenal B. thyroid C. pancreatic D. pituitary

A hormone secreted at |V servesto

A. facilitate the development of facial hairs
B. raisetheleve of calcium ionsin theblood
C. lower blood glucoselevel

D. makethe body react to emergencies

Theumbrella-shaped fruiting body of a fullyidevel oped
mushroom isthe
A. mycelium B. basidium C. pileus/D. Stipe

Usethediagram above toanswer guestion 2and 3.

The pro of water loss and intake indicated by
the arrom lrand 11 are respectively

A. evaporationandesmoss B. exhaation and osmoss
C. osmosisanddiffusion D. urination and diffusion

47.

To select and retain the desirabletrait of large body
sizewith farmer hasobserved inhisherd, thefarmer
needs to

A. feed theanimalsin the herd with,morefood

B. cross-breed hisanimalswith a different herd

C. inbreed theanimalsin hisherd

D. prevent diseasesinhisherd

In apopulation of living things, the parametersof size,
height, weight and,eolour are exampl e of

A. discontinuousvariations B. continuousvariations
C. physiological variatiens D. non-heritablevariations

If XN isthe dominant allelefor normal vision and X"the
recessive allelefor colour-blindness, a boy with the
genotype Y X will

A. havenormal vision B. becolour-blind

C. betatally.blind D. beacarrier of colour-blindness

Thefirst feur children of a couplewereall girls. The
probability that the fifth will also beagirl is
A. 15 B#¥, C. U3 D. %

Geneticcounselling isimportant when amarriageis
planned between a

A. Rhwoman and Rh man B. Rhwoman and Rhman
C. Rhwomanand Rhman D. Rhwoman and Rh man

What proportion of the offspring of a cross between
two heterozygous parentswill exhibit the recessive
condition phenotypically?

A. % B. Y2 C. % D. 4/4

Biology 2003

A noticeable adaptation of theanimal toits aquatic
habitat is the possession of

A. webbed digits B. four limbs C. awidemouth
D. largeeyes

Thesimilarity among organismsbel onging to the same
group will beleast within each
A. order B. family C. species D. kingdom

Hermaphroditic reproduction can befound among the

A. anndlidsand molluscs B. piscesand amphibians

C. codenterates and platyhelminthes D. arthropods
and nematodes

Onedigtinctivefeaturein thelife history of liverworts
isthat they exhibit

A. vegetativereproduction B. alternation of generation
C. sexual reproduction D. asexual reproduction
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Usethediagram abovetoanswer questions7and 8

Food is stored in the structure |abel led
A.llII B. IVC. I D. Il

Thedtructuresthat arecommon to both plant and animal
cdl arelabelled
A. llandlll B. lllandIV C. IVandl D. l andll

Thecd| component that ispresentinaprokaryaticcdl isthe
A. ribosome B. mitochondrion C. chloroplast
D. nuclear envelope

In theegg of ahird, the embryo islocated in the
A. yolk B. embryodisc C. chalaza D. albumen

An insect whose economicimportanceis both harmful
and benefit isthe
A. butterfly B. mosquito C. blackfly D. tsetsefly

Usethediagram below toanswer question 12 and 13.

Water drops
Frash leafy shoot —-

- Fresh leafless shoot

L Layer of ol
- [ 'Water in beaker =

{ireased table

"l

The experiment isused to demonstrate\

A. transpiration occursthrough theleaves B.” plants
losewater through guttation C. leavesare
important to photosynthesis D.“water isnecessary
for photosynthesis

In theexperiment, the layer of oil servesto prevent
water |oss by

A. Osmosis B. Transpiration C. Evaporation

D. Guttation

If water that has been coloured redjis poured at the
baseof awilting plant, it will appear asared gaininthe
cellsof the

A. phloem B. parenchyma C. xylem D. epidermis

The stunted grewth,of'a leguminous plant suffering
from nitrogen deficiency may be corrected by
inoculating the soif*with

A. saproplgytic bacteria B. rhizobium

C. denitrifying bacteria D. nitrosomonas

16.

17.

24,

Organismsl, 11, I11 and 1V have surface/volumeratios
of 1:2. 1:3, 1:4 and 1:5 respectively. Theorganism that is
likely to have the most complex transport system is
A.lll B.IV C. II D.(

Usethediagram below toanswer questions17and 18

Cilas=s tubing

Rubber tubing

Bl par

—— b shset

I'read

The aim of the experiment isto demonstrate
A.dhe presence of carbon (IV) oxidein exhaled air
B. thatin mammal sgaseousexchangetakeplacein thelungs
C. thepart played by thepleural cavity and diaphragm
inrespiration D. that alargeamount of oxygen is
absorbed by the lungs.

In the experimental set-up, therubber sheet represents
theorgan called
A. digphragm B. lungs C. intercosd D. pleurd cavity

The part of themammalian digestive system where
absorption of nutrientstakes place is the
A. duodenum B. colon C. ileum D. oesophagus

The dark reaction of photosynthesis involves the

A. release of oxygen and the splitting of water

B. photolysisof water and the production of starch
C. reduction of carbon (1) oxide to organic compounds
D. splitting of water into hydrogen ions

Themost important hormonethat inducestheripening
of fruitis

A. Cytokinin B. Indoleaceticacid C. Ethylene

D. Gibberdlin

Metabolic production of ureaiscarried out in the
A. urinary bladder and kidney B. pancreas
C. kidney and malphigian tubule D. liver

In mammalian males, theexcretory and reproductive
system share the
A. ureter B. testes C. vasdeferens D. urethra

The best method of propagating sugarcane is by
A. stem cuttings B. seed sowing C. layering
D. grafting

Theresponse of plantsto external stimuli in anon-
directional manner isknown as

A. nasticmovement B. photropism C. tactic

D. geotropism
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Usethediagram below to answer questions26 and 27

The structure can be found in the

A. peripheral and central nervous systems

B. peripheral nervous system only

C. sympathetic and parasymapathetic nervous systems
D. central nervous system only

Thepoint marked | isreferred toas
A. myelin sheath B. dendrites C. node of Ranvier
D. axon

Homologous pairs of chromosomes separate during
A. meiosis B. cytolysis C. mitosis D. cleavage

An exampleof acaryopsisis
A. coconut B. tomato C. guava D. maizegrain

A limiting factor in aplant popul ation near a chemical
factory islikely to be
A. humidity B.pH C. wind D. light

The pioneer organismsin ecological succession are
usually the

A. lichens B. algae C. faens  D. mosses
Mycorrhizaisan association between fungi and
A. rootsof higher plants B. ilamentousal gae

C. bacteria D. protozoans

A density-dependent factor that regul ates the
population size of organismsis

A. sudden flood B. disease C. fire outhrcolg
D. drought

The most effective method of dealing with non-
biodegradabl e pollution is by

A. burying B. dumping C. incineration

D. recycling

Soil fertility can best be conserved and renewed by the
activities of
A. microbes B. earthwormsv Caman D. rodents

The correct sequence of biomes from northern to
southern Nigeriais
A. estuarine & tropieal rainforest & guinea savanna
asahe savanna B sahel savanna & sudan
savanna& guineassavanna & tropical rainforest
A estuarine
C. sahel savannaa tropical rain forest & estuarinea
guinea say@nna \D. guinea savanna & sudan
savanna a tropical rainforest & sahel savannaa
estuarine

37.
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Oneexampleof fossil fuelsis
A. cora B. limestone C. firewood,D. coal

If the pair of allelelsfor baldnessisgiven asBb, a
femalecarrier will be denoted by
A. XBXP B. XBXE C. XY D.XBY

An organism that has been extensively used to test the
chromosome theory of heredlity is

A. Homo sapiens B Drosophila mel anogaster

C. ZeaMays D. Museadomestica

A featureasociated with theY-chromasomein humansis
A. facia hairs B. prominent fingernails
C. long eyelashes D. enlarged breast

A man and hiswifeare both heterozygousfor thesickle-
cdl trait-he likely percentage of their offspring that
will be either carriersor sicklersis

A.50% 4B.25% C.75% D.100%

The typeef reproduction that leeds to variation in
animal and plant populationsis
A /budding B.vegetative C.asexual D.sexual

If aDNA strand hasa base sequence TCA, its
complementary strand must be
AWATG B.GAT C.AGT D.TAG

Which of the following requires the use of carbon
dating to prove that evolution has occurred?

A. biochemical similarities B. molecular records
C. fossil records D. comparative anatomy

The presence of sunken stomata and the folding of
leaves are adaptations to

A. prevent entry of pathogens B. prevent guttation
C.removeexcesswater  D. reduce water |oss

Spines and shells on animals are adaptations for
A. physical defence B. camouflage C. chemical
defence D. mimicry

Theinactive state exhibited by an animal during hot
dry seasonsis termed
A. aestivation B. dormancy C. restingD. hibernation

Aninsect with amandibulate mouth part will obtain its
food by

A. chewing B.chewing and sucking C. sucking

D. hiting and chewing

An exampleof cryptic colouration isthe

A.bright marks on a poisonoustropical frog on
variegated leaves B. bright colour of an insect-
pollinated flower  C. mottled colourson mothsthat
rest on lichens D. green colour of aplant

Anargument againg Lamarck’sheory of evolution isthat
A .acquired traits cannot be passed onto the offspring
B. disuseof body part cannot weaken the part

C. disused part isdropped off in the offspring

D. traits cannot be acquired through constant use of body parts.
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Thegdl bladder of amamma hasaduct connectedtothe 9
A. duodenum  B.liver C.pancreasD. small intestine

The opening of the stomais controlled by the

A. presence of guard cells B. decreasein solute 10.

concentration intheguard cells C. increasein
solute concentration in theguard cells
D. presence of apore.

Usethediagram below toanswer questions3and 4

Hollowed vam wlber
Water
Beaker

sal soluticn

YAl ISUSEU I LTS SE-Up because 1L

A. act asasemi-permeablemembraneB. act asastorage
organ C.ispermeableto the salt solution

D.isaplant material

Which of the following resultsis to be expected If the
set-up isleft for several hours?
A. Movement of water from the salt solution

B. Decreasein thesizeof theyam C. Movement ofthe 12

salt solution into the water D. Decreasein
the volume of water insidethe yam.

Theeggsof birdscontain reatively larger quantitiesof
yolk than those of amphibians and reptiles because
A. embryonic development islonger in birds

B. birdslay shelled eggs C. birdsaregenerallybigger 14,

insizeD. those of birdsarefertilizww.

In theinternal structureof plants, awidepith in the

centreiscommon to

A. dicot root and monocot stems B. di¢et.stems and
monocot ssems C. dicot stemiand monocot roots

D. dicot roots and monocot roots.

If anursing mother isnot producing enough milk, her
hormonal system is probably deficient in
A. testosterone B. thyroximgC. insulin D. prolactin

Usethediagram below to answer questions8and 9

The type of joint between adjacent bof the part
labelled |1 iSthe
A. hingejoint=B. suturejoint C. diding joint

D. ball-andssocket joint

16.

Biology 2004

Theboneslabelled || are called
A. thoracic vertebrag®Bualumbar vertebrae C. cervical
vertebrae D. sacral vertebrae.

Thebreakdown of fatsand oilsinto simpler absorbable
compoundsiscatalyzed by thegroup of enzymescalled
A. peptidases By, amylases C. lipases D. hydrolases

Thetwo key cationsinvolved in the action potential of
nervous transmissions are

A.Mg?and K*4yB. Na*and Fe* C. Fe** and Mg*
D. NarandK *

Usethe diagram below toanswer questions12 and 13

Thepart labelled 11 isthe
A.anther B.style C.filament D.gtigma
The process of pallination involves the transfer of
pollensfrom
A.llltolV B.IVtol C.litolll D.ltoll
The anaerobic fermentati on of a glucose molecule
yields
A. pyruvicacid andalcohol  B. 38 ATPmolecules
C. water and carbon (1V) oxide D. 2ATPmoleculesand
alcohol

Usethediagram below toanswer questions15and 16

fii

The function of thepart labelled 111 isto

A. produce ail for theskin B. carry blood and
nitrogenouswaste C. contract topull the hair erect

D. conduct nervous impul ses

The sweat gland is the structure label led
A.lvV B.llIl C.Il  D.l
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Thetype of reproduction that iscommon to both Hydra
and yeast is
A. grafting B.budding C. conjugation D. binaryfisson

Epigeal germination of aseedis characterized by

A. lack of growth of the hypocotyls B. morerapid
elongation of the hypocotyls than the epicotyl

C. morerapid elongation of the epicotyl than the
hypocotyl D. equal growth rate of both the
hypocotyl and epicotyl.

All living cellsrequirewater becauseit
A.isamediumthat neutralizesacidsin cells
B. isthemain source of energy for the cells

C. prevents the devel opment of diseasesin cell
D. isamedium for all metabolic reactions.

Thesurface of an aveolusinamammalsiswe | supplied
with tiny blood vessels known as
A.capillaries B. arteries C. arterioles D. venules

Nervous control differsfrom hormonal control in that

theformer

A.isadower process B. involvesonly chemical
transmission C. hasno specific pathway

D. produces short-term changes

Identical twinsinherit their genesfrom
A. one egg and two sperms B. two eggs and a sperm
C. thesame egg and sperm D. different eggsand sperms

Paternity disputes can most accurately be resolved
through the use of

A.DNA analysisB. fingerprinting C. tongue-rolling
D. blood group typing

Sex-linked genesarelocated on

A. X-and Y-chromosomes B. homol ogous
chromosomes C. X- chromosomes

D. Y- chromaosome.

In aMendelian cross of red and whitevarretihhe
four o’ clock plant, the F, generation expresses
incompl ete domi nance by having flowerswhich are
A. multicoloured B. pink C.red D.white

Insects are considered the most suecessfull among the

invertebrates because they

A. survivein various environmental conditions

B. possessthe ability to change their forms C. possess
exoskeletons D. havewing for flight

The absence of special food and water-conducting

systems restricts the body,size,in

A the bryophytes andithe pteridophyes

B. thethallophytesandthe pteridophytes C. liverworts,
mosses and fernsBmalgag, |iverworts and mosses.

A peculiar characteristicof mammalsisthat they
A. have sebacegus dglands B. haveteeth C. arewarm-
blooded D. have|ungs.

2,
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Therodsintheretina of the eye are examples of
A. organs B. cells C. systems D.tissues

Thelarval stage of a mosquito iScalled
A. caterpillar B. maggot Cawriggler D. grub

The most common characteristic of the fungal hyphae
is the possession of

A. cdll-like partitions formediby cross-walls

B. cell-like compartmentswith one nucleus each
C.amulticellular mycdliumin the substrate

D. cdl wallsthat arebethigid and chitinous

Usethediagram below toanswer question 32 and 33.

Thepart labelled 11 isresponsiblefor
Aprespiration B. protein synthesis C. excretion
D. photosynthesis

The endoplasmicreticulum isrepresented by the part
labelled
A.lll B.VI C.I D.l

The function of thelong-winged reproductivesin a
termite colony isto

A. protect theyoung B. participatein swarming

C. feed the young D. disperse the population

Aplat-likefestureinEuglenaisthe
A.largevacuoleB. gullet C. pellicle D. pigment spot

Which of the following isan example of intraspecific
competition?

A. Yam and potato shoots growing out through the
samewindow B. A lizard and an ant-eater chasing ani
nsect C.Aworker teemiteandasoldier inalimited space
D. A hawk and an eagletargeting the same chicken

The spots and stripes of the leopard and tiger are

examplesof

A. warning colouration B. countershading C. cryptic
colouration D. disruptive col ouration

Rodents gnaw on food with their
A. strong jaws B. flat-ridged teeth C. chisdl-likefront
teeth D. molar teeth.

An evidence of the relationship between living

organismsand their extinct relatives can best be

obtained from

A. palaeontol ogy B. embryol ogy C. comparative
anatomy D. compar ative physiol ogy.
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Plants survive hot dry conditions by

A. producing numerous leaves B. having numerous
stomata C. having evergreenleave D. storing
water inlarge parenchymacells.

A caterpillar and an aphid living in different parts of

the same plant can be said to

A. bein similar microhabitats B. occupy different
ecological niches C. occupy the same ecological
nicheD. bein different habitats

The progressiveloss of energy at each level in afood

chain leadsto

A. adecrease in biomass at each successive level

B. anincreasein the number of organismsat each
successivelevel C. anincreaseinthetotal weight of
living matter at each successivelevel D. anincrease
in biomass at each successive level

The soil typethat will bemost difficult to ploughin a
wet season is one that is
A.sandy  B.loamy C.sltyD. clayey

Usethetable below toanswer questions44 and 45

Ecological | Temperature | Rainfall
zone (*C) {mm)

I 45 300

IT 32 2 000

m 30 2 200

v 15 800

47.

Which of the zonesis likely to beia,desert?
A.lll B.IV C.I Dgn

High relative humidity willtbe expected in zones
A.llandlll B.ll apdily, C.lTandlV D.landlll

Oneadaptation of reptiles towater lossisthe presence of
A.longtailsB. long sticky tongues C. keratinous scales
D. clawson limbs.

The scarcity of food Causes a sudden decrease in

population size by

A. minimizingtherate of competition B. raising the
mortality rate€. bringing about immigration

D. decreasing thereproductiverate

The asseciation between termites and the cellulose-
digesting protozoan in their gutsisan example of
A. mutualism B. saprophytism C. commensalism
Diparagitism

A statein Nigeriathat is most susceptibleto desert
encroachmentis
A. Kaduna B.Kastina C.Kwara D.Taraba

A farm practicethat resultsin thelossof soil fertilityis
A. continuouscropping B. mixed farming
C. bushfallowing D shifting cultivation.
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